1 FIRMARS
1| Spivit-Rule
Guide,

A CowmpLETE MANUAL

FOR THH

Wine aAnND SeiriT TrRADE,

EIGHTH EDITION,



ZE-y,
/‘:;.N "\\

g /!
U
R
=
=
= o

11

-
p—

4>

~ \:f' / s‘L uuuuuuu ﬁf\ {n)
= = i
r[)))\\.d MUSEUM .%

35

N._Q/‘%,. \@’
FARMARS pC

A ComPLETE MANUAL J
FOR THE : L
WINE AND SPIRIT TRADE. %
BY N
FRANK C. FARMAR, "

HIS MAJESTY’S CUSTOMS.
Inventor of the “Publicans’ Rule,”
Principal of the School of Gauging.

LIVERPOOL ;

F. C. FaArmar & SoN,

15, Hype Roap, Wa.LrLoOO.
™

COPYRIGHT.
(41 rights reserved.)

. (/DDJ . \c

o —

J‘b



TN

B
A “us!u"&g

N

) Ju
QRRDQ \
ham ™
FARMAR'S

“ Spirit Bule,”

THE STANDARD FOR THE WINE & SPIRIT TRADE.

PRICE.
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Press OpinNiONS.

WINE TRADE REVIEW:—
¢ JT8 simplicity and aceuracy are unques-
tionable.”
HARPER'S WEEKLY :—"
¢ TS merits are far beyond anything we
have seen.”
RIDLEY’S WINE & SPIRIT TRADE CIRCULAR:—
“MHE best ever produced. Undoubtedly
an acquisition.”
LICENSED VICTUALLERS’ GAZETTE:—
¢ NO Licensed Victualler should be with-
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CATERER:—

¢ A boon to .all dealing in spirits.”
WINE & SPIRIT TRADE REGORD:—
¢ THE work of a Revenue Expert, assisted
by a Committee of the ablest and most
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CIVILIAN :—
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anyone can work the Rule with ease.”
WHAT PURCHASERS SAY:—
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PREFACE

TO THE SECOND EDITION.
Dot i

expressly designed to meet all the up-to-date require-
ments of the Wine and Spirit Trade,

- ‘HLARMAR'S SPIRIT RULE” is a special calculating rule

It entirely supersedes the old slide-rules, which for
stocktaking purposes are obsolete, and for reducing purposes
inaccurate and misleading. The loss to the trade occasioned
by the use of these old slide-rules for reducing purposes
during the past 4o years is estimated to reach the enormous
total of 4% millions sterling. :

Its uses are enumerated in the Index, and in the pages
following are given the necessary directions, examples, and
exercises in the clearest manner.

It provides an education worth more than money, for it
enables any man in the trade to protect his own interests, and
become complete master of the Business.

Fraxk C. Farmar,
WarterLoo, Liverroor, His Majesty’s Customs.
August, 1g9oz.

———— T T T

PREFACE

TO THE EIGHTH EDITION,
eI

o

HE SPIRIT RULE, I am gratified to say, has proved
a marked success.

The Guide-Book is now presented in its most

complete form, no pains having been spared to render

it worthy of its great mission as a standard work of reference
for the trade.

My grateful acknowledgments are due for the suggestions
and encouragement I have received from all classes of traders,
and for the kindly notices of the Press, which more than
compensate me for the years I devoted to the accomplishment

of this work.
Frank C. FArMAR,
His Majesty’s Customs.

School of Guunging.
August, 1906.
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92 FARMAR'S RULE.

PRELIMINARY DIRECTIONS,

W museum S

'

HE various lines on this Rule are
distinguished by letters.

A and B are the general calcu-
lating lines.

C is a line representing the bung
and wet-inches of lying casks, or the
length and wet-inches of standing
casks,

D is for gauging casks ina lying
pogition.

E is for gauging casks in a
standing position.

KEY

TO THE READING OF THE RULE.
AND G HL

(Lines A B

G and H are special lines which
mutually caleulate the exact
quantity of water required to
reduce spirits—contraction of bulk
being allowed for automatically.

| and J make comparative valu-
ations.

| and K make profit and dis-
count calculations.

M is an Altimeter-Line for
gauging bottles.

1= 1 or 10 or 100 = [3 or 80 | 6=
11=1-1 or 11 or 110 | 31=31 or 31
12=1'2 or 12 or 120 | 32=3'2 or 32
13=1'3 or 13 or 130 | 33=83 or 33
14=71'4 or 14 or 140 | 34=34 or 34
15=1+56 or 15 or 150 | 35=3'6 or 35
16=1‘6 or 16 or 160 |"36=38'6 or 36
17=1'7 or 17 or 170 | 87=387 or
18=1'8 or 18 or 180 | 38=3:8 or 38
19=1'0 or 19 or 190 | 39=3'9 or 39
2— 20r200r200| 4— 4 or 40 | 6=
21=21 or 21 or 210 | 41=4-1 or 41
22=22 or 22 or 220| 42--4'2 or 42
23=2-3 or 23 or 230 | 43=4'3 or 43
24=2'4 or 24 or 240 | 44=4'4 or 44
25=2:5 or 25 or 250 | 45=46 or 45
| 26=2'6 or 26 or 260 | 46—4'6 or 48
27=2'7 or 27 or 270 | 47=4'7 or 47
28=2'8 or 23 or 280 | 43=4'8 or 48
20=2'0 or 20 or 280 | 40=4:0 or 49
3= 3or30or800 B= borbo | 7=

i
=1

borb)| T= T or 70
b1=5'1 or 61 | ¥1=T1 or 71
52=52 or 52
53=5'3 or 53
b4=5'4 or 64
6b=5'5 or 66
56=5'6 or 56
57=5'7 or 57
58=5'8 or 58
59=50 or 59
6or 60 | 8= 8 or 80 [10=100r 100 or 1
61=61 or 61
62=6'2 or 62
63=6'3 or 63
64=0'4 or 64
65=6'5 or 65
66=6'0 or 66
67=6'7 or 67
68=6'8 or 68
69=06-0 or 69
Tor70| 9= 9 or 90

9="9 or 90 or 900
91=9"1 or 91 or 910
72=72 or 72 | 92=02 or 92 or 920
73=T7'3 or 73 | 93=0"3 or 93 or 030
74=T7'4 or 74 | 94=0'4 or 04 or 040
75=7'6 or 75 |95=0'5 or 95 or 950
78=T7'6 or 76 | 96=06 or 96 or 960
T7=7T or 77 | 97=07 or 07 or 970
T8=T'8 or 78 | 98=0-8 or 08 or §30
79=T'9 or 79 |[99=9'0 or 99 or 990

81=8'1 or 81
82=8'2 or 82
83=8'3 or 83
84=84 or 84
B5=8'5 or 85
BG=86 or 86
87=87 or 87
88=88 or 88
80=8'0 or 89

11=11 or 110 or 11
12=12 or 120 or 1:2
18=13 or 130 or 1'3
14=14 »r 140 or 1-4
15=15 or 150 or 1'6
16==16 or 160 or 1'0
17=17 or 170 or 17
18=18 or 180 or 1-8
19=19 or 100 or 19
20=200r2000r 2|
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20-200r2000r 2 | 40=400r 4 | 60 =60or & kﬁ“fﬁﬂm 8
21=21 or 210 or 21 41 = 41 or 41 61 = 61 or 61 Bl = 81 or 81
22=22 or 220 or 2:2 42 = 42 or 42 62 = 62 or B'.R 82 = 82 or 82
23=23 or 230 or 2'8 : 43 = 43 or 43 63 = 63 or 6'3 83 = 83 or 83
24=24 or 240 or 2'4 44 = 44 or 44 64 = 64 or 64 84 = 84 or B4
25=25 or 250 or 2'56 45 = 45 or 45 685 = 65 or 65 B5 = 8b or 856
26=26 or 260 or 2:6 46 = 46 or 48 66 = 66 or 66 80 = 88 or B8
27=27 or 270 or 2:7 47 = 47 or 47 687 = 67 or 67 B7 = 87 or 87
28=28 or 280 or 2'8 48 = 48 or 48 688 = 68 or 68 88 = 8B or 88
20=20 or 200 or 2:0 49 = 40 or 40 69 = 69 or 69 80 = 89 or 89
30=300r3000r 8 EO=560or 5 70 =T00r 17 90 = 9 or 0
81=31or 310 or 3:1 51 = b1 or 51 71 =71 or 71 91 = 91 or 911
82=32 or 320 or 3:2 52 = 52 or 52 72 =72 or 72 92 = 92 or 92 .

8838 or 330 or 33 58 = 53 or 58 78 =73 or 73 93 = 903 or 98
G434 or 340 or 84 54 = 54 or b4 74 =T4 or T4 04 = 04 or 0:4
16 =85 or 350 or 8'5 55 = b5 or 5'5 Y% =75 0r 75 95 = 95 or 95
#8080 or 560 or 3-8 56 = 56 or 56 76 = 76 or 76 96 = 08 or 9-6
07 87 or 870 or 37 57 = 57 or 57 W="9%or 77 97 = 97 or 97
{8 = B8 or 380 or 38 58 = b8 or H'8 78 =178 or 78 98 = 908 or 9'8

- | W09 or 300 or 3:9 59 = 59 or 58 70 = 79 or 79 90 = 09 or 99
. | A0 40 or 400 or 4 60 =600or © 80 =80or 8 100 = 100 or 10

NOTES.

Wwill be thus seen that the figures on lines AB and GH are so elastie as to

be capable of expressing any quantities whatever, for the numbers
ented can be read either as they stand, or they can be inereased or
i tenfold or a hundredfold, merely by the addition or removal of noughts
{mal points,

e FOR quantities over 100 gallons, read from the middle 10 on the
] Rule. Thus, by imagining a nought to be added to this 10 we
b ] 0§ consequently the 11 becomes 110, the 12 becomes 120, and so on.
Bl menns we get the sub-divisions 101, 102, 103, 104, &e., up to 120, &e.

FOI’I quuantities under 1 gallon, it is only necessary to remember

that 1 quart is represented by -25, one half-gallon by -5, and
by 7B, the Rule expressing all quantities in gallons, tenths of a
) hundredths of a gallon, as the case may be.

(= See also Page 4. &
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FURTHER NOTES ON THE RULE,

T might be asked, with reference

to the Kex on page 2: “ Couldn’t

the trule be made to show gquantities

right off, without fmuagining noughts
or decimal points 2"

Certainly it econld—by making it
four times its present length.

But then it would be too unwieldy
to carry; besides, its price would
be prohibitive.

Look at lines AB and GH again.

The numbers, you nofice, run
consecutively from 1 to 100,

Now, were the rule made four
times ite present length, we could
get four extensions, viz:—1 to 100,
representinghundredths of agallon ;
1 to 10, representing tenths of a
gallon; 1 to 100, representing
gallons ; and 100 to 1000, represent-
ing hundreds of gallons.

But all this trouble is obviated
by omerely taking the single
extension 1 to 100, and making it
read equally for hundredths of a
gallon, tenths of a gallon, gallons,
and hundreds of gallons, according
to our different necessities as they
arise.

Isn’t this a simpler and more
common sense arrangement ?

For instance: look at page 22,
example 3.

Here we have a reducing question
of 1 gallon of whisky, involving an
answer of 26 hundredths of a gallon
of water.

The rule accordingly shows 26,
meaning 26 hundredths of a gallon.

But if the question had been 10
gallons of whisky, the 26 would read
26 tenths of a gallon—that is, 2
gallons and 6 tenths of water.

Or, if the question had been 100
gallons of whisky, the 26 would read
26 gallons of water. Similarly, 1000
gallons of whisky would take 260

gallons of water. And so on.

The same remarks apply to page
12, :

For instance, if we wanted to find
the ullage of a 12-gallon cask, we
would look under 12.

And if we wanted to find the
ullage of a 120 gallon cask, we would
still look under 12. Why ?

Because we know that 12 is
converted into 120 by imagining a
nought added.

Read, therefore, the Key on page
2 with great care.

It'll make you master the Rule,
And that’s worth more than yon
can realise.

b



FARMAR'S RULE.

HOW TO KEEP A CASH AGCGOUNT.

pian7 Draw two columns, and mark them A and B. In column A show
all your takings. In column B show your disposal of the money. A ard B
should balance. '
[*4* Accounts may be balanced daily, weekly, or monthly,

according to circumstances. The following is a
specimen monthly account.]

SPECIMEN CASH ACCOUNT.

A B
RECEIPTS. EXPENDITURE.
1906. - i 1906. £ 8. d.
: |
Feb,| 1| Takings ...... 10 (8| 6 | Feb.| 6 | Wages ......|| 4100
9 dos .eaee 9|14 | 8 18] doi  auives 410 |0
3| Aoy I 11561 20/l do. i 4 (10 |0
4/ do. ......[J10[4]0 27| do. ......| 4[0fo0
b CLO e 8113 |7 ‘
[ do eeness] 12 |12 | 9
7 do. enees 10 | 0 (10 ‘{OTHER EXPENSES
] doe  aanied 914 | 8 | . | ae
[ dor weennlll 90]87] 8 Il ] I
T — 1 f .
A0 w200 150
SRR 9|30 6 | Cash to Office |
fow: Gusei 1114 | 6 . (or Bank)| 60 | 0 | 0
doi  nneaes 10(0]2 13 ! do. - 70 (0|0
Hoi e 10|51 20 do. “ 7000
80, uees) 118 9 27| do. " | 61|15 f10
A0 S 9|14 |3 [
e R 9186 |
005 i 91410
[ do. ...... 10010 28 | A/c outstanding
o (o5 SR 9(8|8 —Mzr. Jones| 16 | 8
do. ceenf 100] 2|0 28 |Waste Ale
(< LoV 10 |15 | 0 -i returned| 1|2 |0
(o S 9180
do. .ol 11 |14 | & |
{5 fot o LR 10 (0] 2
do. ] 10137 23' Cash in hand,
do. ......] 914 (8 | (for change)|| 2 |15 | 6
, ST
[oan Taxxas £[284 (10 | 0 !‘ Barascen .. £(284 [10 | 0
A ‘
NOTES.

would be inoluded, if necessary, other expenses, such as Rent, Licence,
s, Repairs, Bills Paid, &e. See mode of averaging expenditure, page
if veokoning profits, page 9.
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STOCKTAKING.

“KNOWLEDGE IS POWER.”

PRACTICAL ADVICE.—Take your own stock. Do it at regular
intervals— if possible every week, or every fortnight, but certainly at least
once a month. Select a time when you are free from interruption, and
directly you start the job finish it off without delay. Don't stop to make
any calculations. All you want are merely the wet-inches of your casks
and jars, and a rough inventory of your other goods. Calculations by
the Rule can be done at your leisure. ]

DirecrioNs.—Arrange the different items under
separate headings, and make a summary at the end.

SPECIMEN STOCKTAKING ACCOUNT.

"STOCK FOUND ON HAND 1/3/06, 8 A.M.

SPIRIT CASKS. BEER CASKS. BOTTLES.
| & Wet Des- T
£l 2| 8| E| oucrun, | Fosiim | Bin fi (0o o o
L R
Lying. | Hhd. |full | 54 743 |Special Whisky,
26-0(13+4] 56 | 2038 Whisky22upd Brl. | ,, |36 204 |Eonneary’s eoo b
-l15¢ : 36 |
21-1{15°0| 28}| 22 |I Whisky20u.p ” 1;3 = Bi%-gon 293 |Martell's ++
28_ 1 4 R 23 u.p. " L1 —_ | —
8(10°0, 57 | 44}/ Rum P ,  |1mna. ltau 55 10} Do. *
2631128 60 | 313 Brandy, 18 w.p, : P I 7 N
w | Br. |, |36 o
JARS. Ol | R rong
" | |88 3 |Sherry.
s ol [ 36
£ ¢|uel 2 " W |
é 3 g-,'é % Description. 2 | las .
s 2 » n | |86 19  |Pints, Bass, &o,
: 12-4| 20
g B g Bitter | 187  |4-Pints d
'5 S 67|14 [Gin, soup] , 11|18 || 362 i
E‘. 2 5 . |full |36
" ” ” 3“
NN = S e 9} doz. |Minerals (large)
CASKS. !
3 » | » |56 1877 ,, | Do. (splits)
= P ,ﬂ; " i 159 27 Mild,
E i} é = Dieseription. 2 G 10'711 187
RiFIE]S Standing | Hhd, /fall | 54 || sgout St
— w | » |o6[10 64 i
2:0 13‘31’ 80 [ 103({Port, n.e. 42°| Lying | Brl. [full |88 || porier 8} 1bs Tobacco.
21-1| 84 28|10 |Sherry, n.e. 30° ” » 900|124 48% i 116 Cigars.




FARMAR'S RULE. | S 7
SUMMARY OF STOCK
FOUND ON HAND 1sT MARCH. 19086.
Quantity. Description. pice. | amolma
Selling  Cost. |  Selling. || Cost.

29} Gallons | Scotch Whisky | 188 o6 | 57| & %G| & fﬂﬁ"
2 Irish  do. ....|[ 18/8 | 10/6 | 20(10| 8 11 |11| O
“r Rum . 13/4 | 97- | 20|10| of 19 |18( 3
31z, Brandy ........ 26/8 | 12/6 | 42| 5| 4| 19 |16 |10
13, Gl 88 | 96 | 1 4|f .. |11 |10
193, Port . |l 188 | 99 | 18 0 10] 1
100 Sherry ........ 188 | 8~ | 9| 6| 8| 2|[t0]o0
LEO7 7« s Burton Ale ....|| 2/4 | 1/44) 17|10| 0 10 | 6| 38
el . Bitter do. 2/4 | 1/2%| 42| 4| 8| 21 |17 5
g Mild do. ....| 1/4 | 103a| 12| 9| 4 3| 7
64, Stout  ........[ 2/4 | 1/42| 7| 9| 4| 4|80
8 Porter ........ 12 | 9id 2(16| 7 18| 4
74} Bottles | Special Whisky | 4/~ | 2/11 | 14|18 o 10 (17| 8
20} Hennessy’s *** 6/6 | 52 916 | 7 16| 3
- Martell’s** ....|| 5/6 | 4/9 6/ 3/ 9| 5 10
Do. * ... 56| 42 2(17| 9 9

Hollands ...... | 86| 22 | 2| s|o 17/ 4

Port .......... ] 2/6 | 1/10 .. |11 )10 8| 8

Bherry ...... | 7 e 6 0 0

Bass, &o. ...... 5 33 | ..| 7|1 5|6

DB, vesees 3a | 2d 2| 8| 9of 1 |11] 2
Minerals (large) 4/- |10id 1118 0 '. 8| 84

Do. (splits) | 2~ | msa | 1[17] 2 1|8

Tobacco ..... JlO5/4 | 4/~ 2| 4| 0 1 B )

Oigars  ........ 95/~ | 15)- | 1| 9| of .. [17] 4

L :wl 8 and 9.] Torar. |278| 0| 81157 | 8] 6

af a veady reckoner will save time in malking these caleulations,
Wuiod at any Stationers for a few pence.
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HOW TO CHECK YOUR STOCK.

me two columns, and mark them A and B. In column A

insert the selling value of the stock left on hand at last stock-

taking, and of the supplies subsequently received. In column B insert

the amount of your takings, of money owing to you, and of waste
goods returned. Deduct B from A,

EXAMPLE.
A B :
.
SELLING SELLING
an. VALUE. @x. VALUE,
g gl £ & d
= === —
To Stockleftonhand 1/2/06/ 292 [13 8] By Takings................ 234 | 10
| \see page 5)
SUPPLIES i— U ! | Mr. Jones' a/c outstanding|| .. |16
S Waste Ale returned . .......
Wines & Spirits 100 10 10 WA RS m:.w s )
Bulk Beers.... 9911 8 ! vl 286 | 8
Bottled Beers.. 34 9 10 | ———————
Minerals . ..... 8218 0

Tobaceo & Cigars 4 0 4
£27110 8.,/ 2711 10 8

TOTAL A.. 564| 0 4
| Deduct ToTAL B..[| 286 | 8| 8

THEN on 1/3/06 you |
should have Stock on} gl 278 | 0| 8f
" hand to the value of | ‘
NOTE.

tP.B.—As the stock taken on 1/3/06 agrees with this amount
(see page 7), it is therefore correct. But if it had turned out sy
£5 short, it would prove that a deficiency of £5 had taken place
during the month. For one's own protection, deficiencies should alwayn
be enquired into. Frequent stocktaking is the check on dishonesty
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i HOW TO RECKON YOUR PROFIT.

RAW two columns, and mark them A and B. In column A
ingert the cost value of the stock left om hand at last Stock-
taking, and of the supplies subsequently received. In column B insert
the cost value of the present stock found on hand, the amount of your
takings, of money owing to you, and of waste goods returned.
Deduct A from B,

EXAMPLE.
A B
CosT VALUB. : CosT VALUR.
D £ s A @r. £ s d

To stock left onhand 1/2/08 168 | 5| 9 | ByStockonhand 1/3/06 .. 157 | 8 | 6
SUPPLIES : (See page 7)

]Wi]nleBB& Spirits f.ég }? (ﬁ) TARINGS ....|| 284 (10| O
Bulk Beers ...
Bottled do..... 2116 0 (8e¢ page b)
Minerals .... 818 9 | Mr. Jones’a/coutstanding..|| .. (16| 8
Tobaceo & Cigars 8 4 0 Waste Ale returned ........ 1| 2|0
£144 11 3.,/ 144 |11 | 8
Torar B..|| 448 (17| 2
o
TORRLA ) BLE LT 0 Deduct ToTan A..| 812 (17| 0
THEN your gross profit =
on the Taings}”&'. 131 | 0| 2%
amounts to ......

[VIZ: 46 9 on the
takings. See fooi-
note. 1]

TO FIND YOUR NET PROFIT.
Deduet your working expenses from the gross projit.

EXAMPLE :
Giross Profit on the Takings .............. £131 0 2
Rent, Licence, Wages, Repairs, &e., &e. .. 56 16 6*
Net Profib  ............ £74 3 8

(“For Mode of Averaging Expenditure, see page 38.)

o, This gross profit of £181 0s. 2d. on a takings of £284 10s.
Y0y i shown by the Rule, thus :—Set the T'akings to 10 on line
Profit on the I'akings will appear the Percentage Profit.

SETTING ON RULE.

Por cent. Profit 10 A

i Takings £284} B
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BOTTLES.

DIRECTIONS.—Stand the Rule upright by the side of the bottle, and
note the Indication on the Altimeter-Line M corresponding to the hetghc of the
-ﬁquor, Refer to the proper column in the Table on page 11, according to the

description of bottle dealt with.

Opposite the Altimeter-Indication will be found

the quantity remaining in the bottle : for Spirits, the number of wine-glasses ;
Jfor Liqueurs, the number of liqueur-glasses.

[N.B.—The wine-glass measures & -gill, §-quartern, or 4-noggin.]
(The liqueur-glass is 8ths of a wine-glass.)

ExampLE 1.
T:E[E height of the liquor in an
ordinary Whisky bottle (as
illustrated) shows 19 Altimeter-
Indication on line M on the Rule.
How much is in the bottle ?
Answer 4 glasses.

-
ALTIMETER
INDICATION

EXPLANATION.

BEING an ordinary Whisky bottle,
we refer to column A in the
adjoining table, where we find that
19 Altimeter-Indication—Z4 glasses,
the quantity in the bottle.

ExampPLE 2.
Tm: height of the liquor in an
ordinary Brandy boftle (as
illustrated) shows 82 Altimeter-
Indication on line M on the Rule.
How much is in the bottle ?
Answer 7 glasses.

RULE,
Line

—32
ALTIMETER
INDICATION

EXPLANATION.

Bma an ordinary Brandy bothi‘,,-

we refer to column K in fhe
adjoining table, where we find thu
82 Altimeter-Indication=—T glas
the quantity in the bottle.
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T [AB|C [D|E[F|a[H[1]J KLM‘NOPQR,ST%JW_ﬁYZf‘L&B_
1 | 70| 8| 7[ e[ ¢| 8l 5| 6 810 7110| 8| 6| 7| 5| 6| 5| 4 5 4T 5\ 4/ 5| 1 |
a [11/131211] o olro| 7| ol1slial1113\12] & of 7| 7| 7| €| 7| 6| 7| 4 5| 7| 2 |
3 [15/17/16115/12]12{13| sl1217\1814{17115| 911 9| 8| o 8 8| 7| 8| 5| 6] 9| B
2 [19201201816]14115| 9[15|21[22(17120/18]1013 10| 9(10110| 9| 9110 6/ 7l11( &
5 221242321 18(17(17/11|18(25(26(2024/20|12[15/11[10/12{11/1110[11| 6 8[13| &
& 126la7126/25/21/20(10112121|28128/24(27 23(13117121113(12(12/11 12| 7] 9)15| @
7 [30:30|2027/24/28(21(13125|31(32/27(3025/ 14|19 13| 12{14|1413[12]14] 8[10/17| 7
8 |32133/39/31127125(23(15|28(33(35/31 34128/ 16/2013|13[15(16/15/1315| 9l10/18| 8
. o |36(37136135(31|28(26|17(31/35/39|35/37[3117[22/13 [14{17[17[16/15[17]10/11/20| @ |
10 |15146/41/42.30137/35/24/36|41]46/41|45(3418/24/14|15(18]18[17 16|18/ 101222 10 |
11 | asl. . [37)tol26(15] 16! 19 /20{ 18|17 19|11/ 13]24| 11
ao |l sl - [40l20127 16(17[20 {21 20(18 21 12[13]25| 12
13 |. ol e lasfae 1618 2128 21 19|22 113/1 4127 43
aa | losla0 17{19]23 124128 20 (23| 14]15[28 | 12
15 oLl g aala2 18[20/24 /26124 /21 (25| 14116(30| 15 |
\ 16 ... e e e o o] o o [25138]18]28]25 (27 125(22(26|15|17135| 16
27 o oel35(19 /28] 26(30(26/28 (28 (16/18)... | 17

16,
‘ 712 O A Pl S M S I ..2736’20..273528.24:}01319.. 18
19 [oofouteuforfenfonteefon]oa]en]o oo |- 28188120 . 281. . 120/26/81(201201. . | 19
20 || [l e ea]e ] 1] - 120[89121 ) . [29). . [B1127|83126/22|, .| 20 |
: cofesfen|onfeefoe] o]+ o] [BO/401221. . 801 .. 8828135 .. 126)..| 21 |
et i oo|en]]o o] [31]42028]. . [81]. . 89[29141]. . [32. .| 22

|- .[82(47j24]. . 311, |, .]30l..|..]..]..| 23 |/
S I R N B D O 71 S0 1 1 8 O 01 e [ B B Y
Voloode e oodes]alealse I-] ofe<]e+[88]- < |25]. (88} |. . 381, .1, .| .| 26
e e e B | R O N D7 DO £ 7 O 11 O B B ™~
[ | - OO O =17 1 O ) B ™,
90 Y P Y O R PP R
T e ‘ o [ B T P R ) e ol S A e S e
l o I DO s S ) ol B 2 s A P P e e e

LIQUEURS —Absinthe, O. Anisette (Cusc-
g{cr’sjhpif_bB%;édEtin‘ej I(lba.'fa} Q.( Bén;%dig

. ine (ha'f-bottle), R. artreuse (hottle), S.

p=fitinto Bottle, J, Chartrense (halj-botile), T. Cherry Brandy
Longenek, L. (Heering’s), U. Curagao  (Fockink's), V.
Kirschwasser, O. Kilmmel, W. Grand

. Marnier, X. Crémede Menthe (Cusenier's),
fhy M. Vermouth, N, Y. Peach Bitters (S. & T"s.), Z

Unnry Hottle, A.

Ll Betepieion of column S ; - viz. 30=31 glasses; 40=33 glasies
B4 glnwsws ; 46=35 glasses; 50=36 glasses.]
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DE RULE™
»
—

WINE, SPIRIT, AND CIDER CN54&’

LYING.

Set the Bung-diameter on C to 100

on D, then under the Wet-inches on C

Cwill appear the per cent of content on

Set this percentage to 100 or 10

on line A, then under the content will

be found the Ullage quantity in
gallons and fractions of a gallon.

ExXAmMPLE, ...
Fmxp the ullage-guantity in a
lying cask from the following par-
ticulars :—

BuNg WeT CoONTENT
Inches Inches Gallons
26 18:-5 56

Answer 43:6 gallons
SETTINGS ON RULE—

Wet Bung
1s C 185 26 C
D 78 9/, 100 D
A 56 Content 100 A
2nd
B 436 Ullage 789/, B

EXPLANATION.

We set the bung-diameter 26, to 100
on D, and find that 18-5 wet-inches
show 78 °f, of content, signifying
that the ullage-quantity is 78 0/, of
the given content 56 gallons.  Setiing
this percentage to 100 on line A, we
find that 56 gallons content give 43+
gallons ullage.

[Page 19 tells us that 6 tenths
of a gallon is equivalent to 4% pints,
so that the exact quantity in the

" cagk is 43 gallons 4% pints.]

STANDING.

Set the length on G to 100 on E, then
under the Wet-inches on C il appear
the per-cent of content on E. Set
this percentage to 100 or 10 on line A,
then under the content will be found
the wllage quantity in gallons and
fractions of a gallon.

EXAMPLE. :
Fixp the ullage quantity in a
standing cask from the following

particulars :—
LERGTH WeT CoRTENT
Inches Inches Gallons
25 18 28

Answer 207 gallong

SETTINGS ON RuLe—

Wet Length
1t C 18 25 C
E 74 of; 100 E
A 28 Content 100 A
2nd
B 20'7 Ullage 74°/, B

EXPLANATION.

We set the length 25, to 100 on E,
and find that 18 wet-inches show
74 0/, of content, signifying that the
ullage quantity is 74 °[, of the given
content 28 gallons. Setting this per-
centage to 100 on line A we find that 28
gallons - content give 20°7 gallons
ullage.

[Page 19 tells us that 7 tenths
of a gallon is equivalent to 5§ pints,
so that the exact quantity in the
cask is 20 gallons 53 pints. |

EXERCISES.
Content,

Bung. Wat. TUllage. l

17-1 | 136 | 14 | 12:2
210 | 184 | 28} | 267
264 | 175 | 55 | 396
341 | 309 | 110 |106'3

EXERGISES.
I Length ‘ Wet.  Content.| Ullage.

238 | 170 | 183 | 13:3
25:0 | 180 28" | 207
278 | 184 ' 303 | 204
325 | 250 56

Nore.—These regulations apply to all casks, large or small, of wood

poreelain, or earthenware.

*«"Round casks can be gauged either lying or standing.

wonly be gauged standing.

For METHOD OF REABING THE FIGURES ON THE RULE, See KEY, DIgON

3 and 4.

Oval caslks o

.

e




FARMAR'

THE DIP-ROD AND

P i, Y
S RULE. ,I‘Z““g 18
oong 1O

ITS USES.

HOW TO DIP A, CASK.

Insert the dip-rod perpendicularly
to the bottom through the bung-hole,
or head-hole, according as the cask is
lying or standing. Take the et
Inches as found, but deduct the thick-
ness of the upper stave from the
external dimension.

EXAMPLE.
A cask (inch wood) dips 27-4
inches externaily, with 175 wet.
What shall we write down ?

Bung, Wet.

Answer 26'4 175
ExpLANATION.—Deducting the inch
thickness of the upper stave from

the external dimension [ie 27-4—
1'0], we get 26-4 Bung-diameter,

# #MHE DIP-ROD has two lines
engraved on it—an Ineh Imec
and 8 Diagonal line.

The Inch line (graduated m
tenths) is used for all general
dipping purposes. [See page 12
Jor Wine, Spirit, and Cider Casks;
page 14 jor Beer Casks; page 16 for
Jars. |

The Diagonal line (marked Impl.
Galls.) is used for finding the
approximate capacity of a cask by
insertion through the bung-hole in a
slanting direction. [See page 44 (e)
for full explanation.]

Dip rods are made in three
varieties —straight, folding and
jointed. The jointed variety is the.
best for ordinary use. It consists

of convenient short pieces, which

screw together end to end. (See
The “ Wet” we leave alone. page 64.)
STANDARD SIZES OF CASKS.
£ |
Heseription 01:1.:11::?:}'. Deseription. I| CE;:;L,‘ i Degeription. cﬂﬂﬁly.
| [
pei117 —120| Bypaunpy..Hhd 48 — 50/ GENEVA
69 — 60 MADEIRA....Pips 02 — 07 5
20 — 30 AR s e e Hhd 44 — 49 RLIM
| 44— 15| .. Qr. Caskl 22 — 24/
ok Pl' '11?3‘#13% MARSALA.- . —ng i‘i‘ligi W" 5
Ao Rlpe —1& ¥ fan — 22/ VYHISK
ﬁ?.. L. Hhd| 68 — 60| 2 Qr Cask| 22 — 24/ ,,3
28 — 29 Hocx ..4 Aum'128 —182|
900 —204| ' .8 Aum 94 -—-101 BEER .
109 — 112 2 Aum| 60 — -
[ Aum 30 — sz =
27 — 28 BRﬁNOY . Piece 115 —125 5
11 GRS Hhd 58 — 61 L
7 2 . Qr. Cask| 29 — 81 .
47 — 49| x I.arge Octavel 17 — 20 =
8 — :3-11 » Small Octavul 16 — 17 ,,
dne Marsaln Hogsheads arvejimported in Casks similar in size to Sherries,
olen of the,Whisky Trade

Wil be valuable to note that the Clontent (or Capacity) of every cask

wedd warehouse is either seribed or painted on the front head. »
0 anable the Ullage gmmtt? to be correctly ascertavned by the

i Praders, thevefore, should similarly utilise this Com‘ent

wrposes.  In case, however, no_ Clontent is marked on a

0 find ity €f lying, is by means of the Diagonal Line, partlys
m,u!rm:afl on page 44 (). The above Table shows the usual

val Gallons.

Ulasks imported have the Foretgn Litres branded on t?mm.
i litres to galions,]




14 FARMAR'S RULE.

BEER CASKS.

[*,* The ullage quantity in each cask is shown opposite the wet inches.]

FIRKINS, BARRELS. HOGSHEADS,
LYI&G, ATANDING. LYIRG. BTANDING. LYING. RT,‘.'HDING.
Wet Wet Wet Wet Wet Web
{Inches Galls|laches Gallg nehes Galle|lnches Galle [nohes Galls|Inches Gallg
=1 00m 1 18=1 10=1 ;ﬂ;= é }-g:. ;
40— 2 4:0= 2 28= 2 1'9= 3 3,2; 3 28— 8
56=8 57= 8 87= 8 28= 8 89= 4 §-9= 4
68= 4 Td=4 s s 45= b ‘6= b
B0=5 | 91=5 sty | Tms 506 I A28
e [ . 7- 4 51= 5 48=§ b= g §-9= 7
= T 57= 6 il hg= A=
105= 12%6= 7 i T go=9 | 60=.8
4 62=T b9= 7 68=10 G6=10
2205 8- lite g, 8 68=8 | g8 (i O
14 7= 16'5= 9 ; 6= e
= 78=9 80=18 8'g=1lf
79=10 A 84= 80=
- fusy g8=15 | 95=15
88=11 87=11 92=16 | 101=16
88=12 95—12 95=17 | 107=17
= g9=—18 | 112=18
98=18 | 109-18 10 s-—ig 1;-%:;3
98=14 106==1 12d=
KILDERKINS, 14 | 108=14 1ro=21 | 12:9=51
108=15 | 115-15 =4 | 1842
107=16 S 117= 39=
LYING. 1 BTAKDING, 111=1 193=10 181=24 146=34
| Do | me || e | o
Web Wet 116=18 | 18518 o= =
! ¢ = 181=27 | 160=27
[nches Galla| Inches Galle] 12:0=19 142=19 184=28 | “166=98
12 4=20 o
29=1 | 18=1 b Ll
= 189=21 | j154-91
B'5= 2 26= 2 A
46=8 | 88=38 i 1t
Bd=4 | 49=14 991 | 18718
68=5 61=5 148=24 | 174=24
70=86 | Tl=6 148=25 | 181=25
78= 17 81=17 16'4=26 | 18:8=26
85= 8 91=8 169=2 | 196=27
98= 9 101= 9 16:5=28 20'8=28
100=10 | 111=10 170=49 | 210=29
10 7=11 121=11 176=30 21°8=30
11'6=12 18:1==148 189=81 29/5=81
13 3=1: ;;'% 13 18'8=22 | 954=32
180=1 +g=14 v 4 £
189=15 | 164=15 1sla_3s bt
149=16 | 176=16 ok Frbe |
16:8=17 | 188=17 22=35 | 259=85
185=18 | 202=18 281=386 | 26'8=86




FARMAR’'S RULE.

l PUNCHEONS, BUTTS
l LyIsG. BTANDING. Lyirg BTANDING
Wt Wet Wet Wet Wet Wet Wet Wet
A Lm Galls| | % Galls|p, °* Galls |, °° Gallg rna, Gallslpc" Galls 7S¢ Galls| 7°° Galle
I I'd= 1|145=87| 07= 1|184= 87 ;;= 1 15-'?=§g gg= }z 28:9= B
e J 5 e = 2|160= =
r 90« 2|148= 88| 14= 2|188= 88 35— 8|169= 57| 16— 8
| Q0= 8|151= 89| 19= 8|199= 89 g-ﬂ= ; ;g4=§g §§= g
o X e . = = =
A= 4|164= 40| 256= 4|196= 40 89= 6|168= 60| 82= 6
40 5|157= 41| 81= 5| 209= 41 :-g= g }g-0= gl g-§= g
= = = = g G
dli= (|160=42| 87= 6|207= 42 5l= 9|174= 63| 46= 9
' 00w 7(168= 43| 42= 7| 91'1= 43 g$= H {;-8= gg gé: 1¢1|
oy o i . = B= =]
Bde B|166= 44| 48= 8|218= 44 60= 13| 180= €6 60— 12
Bl 9|169= 45| bd= 0|220= 45 g§= i: 18:9= g7 Ggu 13
e 10 [171= 46| 59= 10| 235= 45 8hm 15| 1085 oo o s
R R et R s R
Ml 10177 48| 69= 12| 28:4= 48 76= 18| 198= 72| 87= 18
& I8 | 18'0= 49| T4= 13 |98'8= 49 g:§= ég }g-g= gg 9é= %g
QRRRp A 6= 60 T0= 14| 243= 50 88= 21| 200= 75 | 10.0= 21
Al [ 180w 51| 84= 15| 248= 51 g'g= :é gif i Ilg g-—— gg
10| 180 62| 89= 16| 258= 2 99— 24 | 206 78| 112~ 4
W% | 109 58| 94= 17 | 25'8= 53 ?{Eﬁ g; g?-iff 79 }; g= 25
{ :' fw B4 | 99= 18| 26'8= 54 95: a7 gi-g; g{' ig;; g’g
08 06| 1044= 19 | 267= 55 1011= 28| 21'6= 82 = 238
08= 29 | 21°9= 83 | 18-2=
B0 1w 16 | 108= 20 | 27-2= EB }g 5= 80 gg,lz gé ;g.3= ?'g
M 07 119 21 = 107= 81 | 22.8= = Bl
.nu” 1 117 o gl 109= 82 | 22:6= 86 | 144= B2
1] 7= 32 198'8= 5B li:ﬂ= 32 ms;g= a7 ]42: 33
B0 [ 122 25 | 98 8— g9 11'5= 84 | 981= 88| 15-2=
h : 11'5= 85 | 234= 89 | 156= 85
.ﬂh 0 | 19:6= 24 | 29-2= G0 1;.3= s? gg 6= 90 ]g.2= gg
100 95 | 09— 120= 87 | 23:9= 91| 164=
o 1 W 128= 88|24 2= 03| 168~ 8
(8 (105 85 | 50 3= 62 12'5= 89 | 24-5= 98 };§= 8
) w97 | 308 g 12:6= 40 |247= 94| 17-6= 40
oK | 109 e e 12:8= 41 | 25:0= 95| 18-0= 41|89
A4 | 14 86 | 51 8= G4 180= 42 | 35:9= gg }g-ﬂ:‘ :g
B 99 | g1o8— 189= 48| 257= 97| 187=
. 80| s1e= o 184= 44 |261= 08| 191= 44
s 10 | 025 66 100 45 | 204 90 10:6= 48
0| pag=— 18:6= 46 | 26-7=100| 19 8= 4
= 01 pap n7 141= 47 [ 271=101| 202= 47
= 08 | B8b= 08 14'8= 48 | 47-4=103| 20 6= 48
R N e
I I | B0 70 14 9= 51 28 6=105 g;-;; 5t
i 15 1= 52 [991= =
R 801w 71 15 8= 8 | 29:6=107 | 22'4= 58 | 45'0=107
i | Db 72 165= 54 | 810=108 | 225= 54 | 45:5=108
l of Ale ExAMPLE 2.—A Hogshead of Ale

o, How (standing) dips 197 wet-inches,
How much does it contain?

wlons. Answer 34 gallons,
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JARS.

f

A

ﬁ—-____

DIRECTIONS:—Take the wet-inches by means of the dip-rod ; then
refer to the proper column in the Table below, where, opposite the wet-inches,
will be found the quantity remaining in the Jar.

4-gallon =
-gallon =
#-gallon =

1 quart.
2 guarts.
3 quarts.

ULLAGE TABLE.

A 2-gallon Cylinder-shaped Jax dips
67 wet-inches.

it contain ?

Answer 1} gallons.

How much does

87 wet-inches.

it contain ?

Answer 2} gallons,

Approxi.| 1 z 3 4 5 6 Approxi-
mate | GATLON-JAR. | GABLON-JAR. | GAILON-JAR. | GALLON-JAR. | GALLON-JAR. | GALLON-JAR. mate
ki oy- ey o blioy [ o heoy. ] | oy Llon [LE ity
m e {uder | B s | Bunee | | S| e, A S | e i | shave| e
Wet Wet Wet Wet Wet Wet Wet Wet Wet Wet Web Wet
Gartows| Inches | Inches | Inches | Inehes | Inches | Inehes | Inches Inches| Inches | Inches | Inches | Inclies GALLOYE
01 90| 3ol 13| 20| 11| 1-3] 10| 1-3] 09| 10] 07| 10| OF
% 41| 50| 27| 35| 22| 26] 19| 22] 17| 1-9] 14| 18 3
3 61| 681 40| 50| 84| 37| 28| 81) 25| 26| 22| 25 S
1 g0 | 80| 54| 60| 45| 47] 37| 40] 33| 34| 29| 33] 1
3 | =| =| e7| 71| 56| 55| 47| 48| 41| 41] 36| 40| 2
3 — | —| 81| 82| 67| 62] 56| 57| 60| 49| 44| 46 P
# | —1os| 96l 78| 71] 65| 66| 58| 54| 51| 54 §

2 — —J11-0f11:0] 90| 82} 75| 70| 66 | 61| 68| 58] 2
3] = =] =| =|w01]| 90| 84| 78] 74| 68| 65| 63| %
il —| —| —| —]irs| 98| 94| 87] 838 ‘ 74| 78| 70| 3
i — | — 0 — —J122 1081103 98] 91| 80| 80| 75 i
3 = — = la32 | 11| g8 gal 8ale) 8 1S
3 — = — — — —|12:2|104}10:7| 91| 95| 84 o
3 — — — — — — 11832 |11-0]116| 96]10-2| 91
3 — SO e ] e a1 el e 100 | O, g
4 — — — — = — 1150|130 132 |10:7|116|{103] 4
% — — - — — — = — 14:0|11-3)122 | 10:8
— — - — — — = — | 14911191181 | 114 t
i Sl = S = =] = =115 [12e]aes | oL
5 — — - — — == —_ —|165(140|146|125) & |
} — — = —_ = —_ — — ‘ — 1153 | 131
% — —_ — == — == — = = — '16'0 138
2 = —_ s — — = — = — |16:7 | 14:5
Db TR (Y U [ R | — |15 |152| @
EXAMPLE 1. EXAMPLE 2.

A 4gallon bouge-shaped Jar dipn
How much does
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URNS, &c.

Ascertain from the undermentioned table the number of pounds-per-gallon
corresponding to the hydrometer strength. Set this result to 10 on line Aj then
over the total net pounds will be found the exact quantity in the vessel in gallons
and fractions of a gallon.

TABLE.
EXAMPLE.
Srruxarm. | LOUNDS =
PER GALLON
== IND the quantity of Whisky in
s r[:s;’ ) g;gg a glass Urn from the following
2up. = 9:211 weight and strength:—
3u.p. = 9:222
4u.p. = 9236
pup. = | 9248 G | B | B || dohte concasned.
6 w.p. = 9-25
Tuwp. = 9-270
8up. = | 928l e ) s RAD:
funp. = 9:292
}‘{' ::B S gg?g Answer 148 gallons.
12 u.p. = 9-325
18 up. = 9:336
}: :’;g = gg;g SETTING ON RULE.
= 9368
E 9-380 A 1:48 Gallons 10 A
= §:891
- 9-401 B 14 1bs. Nett 9:41 B
- 9:411
- 9-421
- 9431 EXPLANATION,
. 9-441 e
r 9-451 HE adjoining table tells us that
- gigi spirit ab 20 u.p. weighs 9+4111bs.
L 9480 per gallon. Setting this 9-41 to 10
- 9+490 on line A, we find that 14lbg nett=
g:ggg 148 gallons. [Page 19 tells us that
9516 48 hundredihs of a gallon=3 pints
0:522 and 3} quarterns, so that the exact
2221 quantity in the Urn is 1 gallon, 3

550 « pints and 3} quarterns.]

ovontning Wine, reckon it roughly at 101bs, per gallon.]

Plrpose ﬁf Stocktaking, mark the tare on a small label on
he deducted when taking the gross weight.



CIGARS.

Mermon,—Set the price per 100 in
shillungs to 100 on line A; then under
any number of Cigars will be found
their value in shillings and pence.

EXAMPLE (a).—Find the value of
46 cigars at 36/- per 100.

Answer 16s 6d.

SETTING ON RuULE:—

A 46 Cigars
B 16s. 6d.

100 A
36 B

Key,—We set 36 shillings to 100
on line A, and find that 46 cigars
are worth 16s. 6d.

FARMAR'S RULE.

ExAMPLE (b).— Find the value of
40 cigarsat 24/6 per 100,

Answer 8s. 9d.

SeTTING ON RuLe:—

100 A
24} B

A 40 Cigars
B 9s. 9d.

Kry.—We set 24} shillings to 100
on line A; then under 40 cigars we
find 9s. 9d., their value.

4 "
[?{Iﬁﬂ RULE q;

R

T Viey®

SUPPLEMENTARY NOTES.

00D AND DRUGS ACT.—

Whisky, Brandy and Rum may

be reduced to 25 underproof, and Gin
to 35 underproof.

¢« PROOF SPIRIT ” is twelve-
thirteenths of the weight of
an equal meagure of distilled water
at 51° Fahrenheit: specific gravity
-9187 at 629, and the proportions of
alcohol and water contained in 100
parts by volume, 57-06 and 4294
respectively. Taking 100 as the
standard for ¢ Proof,” overproof
is over the 100, and underproof
under the 100. )
g [For Caleulation of proof-
quantities, see page 28.]

@ % THE STANDARD for the Imperial
Gallon is the space occupied by 101bs.
avoirdupois of distilled water at 62°
Fahrenheit, with the barometer at 30
inches.

The Standard for the Litre is the
volume of 1000 cubic centimetres,
or 1 kilogramme of distilled water
at 40 Ceuntigrade.

CELLARS should be kept at an
even temperature—that is, not
gubject to sudden changes. The
following ave the best temperatures for
the different goods specified :— Viz.

40° | 50° 54° 55° 59° | 60°
For | For For For For For
Spirits | pagne, | Ale. | Bur | Port, | Bottled
and |3.ioae]1a, Stout Gt Bherry, | Beer
[FErated | Hoek, eud and s tel?llli.ﬂd I
Waters.| and | bottled and
other to
other | Beer Maraala
!B . = light Maburs
ATH-
| ﬂ,,g keaping. Red rapldly.
| &1ight Wines.
White
Wines.
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TABLE

SHOWING
TENTHS ano HUNDREDTHS OF A GALLON anp EQUIVALENTS IN
PINTS and QUARTERNS.
[Nore.—Quarterns, Gills, and Noggins represent the same quantity.]

IMPERIAL MEASURE.
' |4 quarterns make 1 pint; 2 pints, 1 quart ; 4 quarts, 1 gallon.]

w"u“\“‘g

TENTHS |EQUIVALEXT [HUN DREDTHS| EQUIVALEXT HUNDREDTHS| EQUIVALENT
7O 0 T0
OF A OF A OF A
GALLON, PINTS. GALLON. |PINTHS. QRETN GALLON, [PINTB, QRTNS]
= 3 21 — 1 24 61 = 4 33
i 14 22 — 1 38 62 = 4 33
= 21 ag =8l 6t 65 = | 5 0
= 3} 24 — |1 8} 6L = | 5 03}
= 4 O —=| 800 65 = | 5 03
= 43 26 = 2 02 ROV G50k
- 73 29 — 2 1% 69 — 5 2}
- 8 30 — 2 2 70 = 5 3.
81 = 2 2 71 = 5 8
82 = 2 21 72 = 5 8}
7 — 2 22 T4 — 5 3}
- 85 = 2.3 75 = 6 0
WU EQUIVALENT 86 = 2 33 L — 6 0%
A e 37 = 2 8% M = 6 0}
oK,  [roms. quaws] 8 = | 8 0 18 gt NGRS
T e 39 = 3 0} 79 = 6 13
0 0} 4 — 8 1 81— 6 2
0 0k 42 = 3 11 82 — 6 2%
[0 A 43 — 3 13 83 = 6. 2
0 g == 18 Vo 84 = | 6 22
0 46 = 3 23 86 = 6 381
0 47 = 3 &8 B = 6 3%
0 48 — 3 3} 88 = 50
0 49 = | 8 8% 89 = | 7 0%
0 bl = 4 D 90 — T
o T — 4 0} 91 — g
| bR = 4 03 9 = (g
e = E S | 93 = e
b4 = 4 13 94 = 7 9
O = 4 1} 95 == )
61 = 114 ) 96 = 7 2%
D= 4 21 9 = LT D
o8 = 4 2% 98 = i
99 = 4 2% 899 = 7 8
g0 = 4 3 100 == 8 0
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REDUCING. il
VITAL FACTS.

@WING to chemical action, & con-

traction in bulk takes place when
spirit and waber combine. Or, as
the expression goes, ‘A gallon of
spirit and a gallon of water won’t
make two gallons.” To meetb
contraction, an increased quantity

«,* Contraction of bulk is due to the interpenetration or
different sized molecules which compose spirit
and water—the same law holding good with regard to any two
miscible liguids of different densities.
with spirit & chemical action is set up—heat being generated by
the smaller molecules of the spirit breaking into and filling up
the spaces between the larger
however,
by adding extra water we merely

marrying of the

contraction thus resulting is,
increase of strength., So that
restore the equilibrinm.

ILLUSTRATION.

of water is required—the calculation
of which must be based on the
specific gravity system.. This the
Rule does sautomatically.  The
total water thus shown is absolutely
needed to make both the strength
and the quantity right.

Directly water combines

molecules of the water. The
compensated for by an

I have 50 gallons of whiskey at
8 overproof which I want to reduce
to 20 underproof. How much water
shall T require ?

TVorken out by the pen, or by
the old slide-rules, the water
required appears to be 17-5 gallons.

08y
2.5
Al 675 50
ol { i
souo0 20 u.pl 8 o.p.

But this is a false answer,
entailing a loss to the trader
750 of nearly three-quarters of a
¥ Ji__wllon. Instead of getting 67'5
ns, as he expects, he gets only
allons, or 46 glasses short.
bries the strength, he will find
itnd91 u.pi, and it will just take
this%&m 46 glasses of water to
bring %t down to 20 n.p., and to
_malke his bulk quantity right.

p

In other words, he needs another
7 tenths of a gallon of water, over
and above the pen-caleulation, to
give him 67-5 gallons ab 20 -u.p.
That is, he needs 17:5+07, or
182 gallons of water altogether—
the precise quantity shown at a
glance by Faimur’s Roie. [See

Example 1, page 21.)

[*.* It will be thus seen that
traders who reduce their spirits
without allowing for contraction
in bulk, wunconsciously sell their
stuff stronger than they imagine, :
and rob themselves by deficiendy

in the output.]
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TO ASCERTAIN THE TRUE WATER REQUIRED
FOR REDUCING PURPOSES.

METHOD :—Set the SUM of the two strengths on line H to the required
strength in Section No. 1; then under the quantity of spirit on line G will
appear the exact quantity of water required—allowing for sontraction in bulk.

IMPORTANT.— But when reducing from underproof
to a further degree underproof, set the DIFFERENCE
instead of the sum, T

EXAMPLE 1.

I HAVE 50 gallons of whisky at 8 overproof, which I want to break down
to 20 underproof. How much water shall I require, and what will be the

Sinal result ?
Answer :—Exact water required: 18:2 gallons.
Final result, 67'5 gallons at 20 w.p.

BETTING ON RULE:—

| Section K. 1. Gall
a ‘ 20 up. Spirit 50 G
28 Water 182 4 H

LANATToN -—The given strengths are 8 o.p. and 20 u.p. Adding these
mentally together we get 28, and this sum 28 we sef to 20 u.p., the
il sbrongth, in section No. 1. Then, looking under 50 gallons ofP spirit
o O wo lind 18:2 gallons, the water required. [Page 19 tells us that
s of @ gallon=1} pints, so that the exact quantity of water required is
iMone L4 pints.)

‘Mow, to find the extent of the contraction, we repeat the

suttlng in section No. 2, when there appears a diminished
pasult, viz. 17'6 gallons.

Gall | Bection No. 2
Spirit 50 20 u.p.
17-5 28

tots] bulk now becomes as though wé had only put 1 d¥
| vesult, therefore, is now 67-5 gallons at 20 under
verified by the hydrometer and the standard measures.

b/
f

W Llind after we have put in 18-2 gallons of water, the :&q&
of —
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REDUCING. —Continued.

EXAMPLE 2.
I HAVE 13 gallons of Whisky at
22 overproof which I wani to
break down to proof-strength. How
much water shall I require, and what
will be the final result ?

Answer :

Exact water required, 3 gallons.
Final result, 15-85 gallons at proof.

SETTING ON RULE.

Hection No. 1; Gallons.
G o | 18 8pirit G
H 22 3Water H

Exprnaxarion.— The given
strengths are 22 o.p. and 0 o.p.
Adding these figures mentally
together we get 22, and this sum 22
we set to proof or 0, the required
strength, in Section No 1. Then
looking under 13 gallons of spirit
on Line &, we find 3 gallons, the
exact quantity of water required.

* . * Now, to find the extent of the
contraction, we repeat the setting in
Section No. 2, when there appears @
diminished result, viz 2:85 gallons.]

Gallons, Section No. 2
G 18 Bpirit 0 |G
H 2-85 22. H

THI‘S implies that after we have

put in 8 gallons of water, the
proper gquantity, the total bulk now
becomes as though we had only put
in 2:65 gallons., Thg final result,
therefore, is now 15°85 gallons at
proof strength., [Pagel9 tells us that
85 hundredths of a gallon=06 pints 3
quarterns, so that our exact quantity
is 15 gallons, 6 pinis, 3 quarterns.]

ExampPLE 8.

I HAVE 1 gallon of Whisky at
proof-strength which I want to
break down to 20 underproof. How
much water shall I require, and what
will be the final result?
Answer: -

Exact water required, 0°28 gallon.
Final result, 1} gallons at 20 u.p.

SETTING ON RULE.

| Seotion No. 1 Gallon.
G 20 u.p. 1 Spivit G
H 20 26 Water H

Hxpuaxarion.— The given
strengths are 0 o.p. and 20 u.p.
Adding these figures mentally
together we get 20, and this sum 20
(represented by the figure 2 on the
rule) we set to 20 u.p., the required
strength, in Section No. 1. Then
looking under 1 gallon of spirit on
line G (represented by the figure 10
or 1, see Key, page 2) we find 0-26
gallon, the exact quantity of water
vequired. [Page 19 tells us that 26
hundredths of a gallon==2 pints and
} quartern.]

[*.* Now, to find the extent of the
contraction, we repeat the setting in
Section No. 2, when there appears a
diminished result, viz : 025 gallon.]

Gallon, | Section No.2 |
G 1 Bpirit | 20u.p. | G
H 95 20 H

THIS implies that after we have

put in 0-26 gallon of water, the
proper quantity, the total bulk now
becomes as though we had only puf
in 0-25 gallon. The final resulf,

therefore, is now 125, or 1} gallons |
[Page 19 tells us
that 25 hundredths of a gallon=2 pinte
or 1 quart, so that our exact quantity

at 20 under-proof.

is 1 gallons. | st
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REDUGCING.— Continued. _ i

EXAMPLE 4.

] HAVE 150 gallons of spirit at 20
overproof which I want to break
down to 15 underproof. How much
water shall I require, and what will
be the final result ?
Answer:

txact water required, 84 gallons.

Final result, 241'7 gallons at
156 u.p.
SETTING ON RULE.
| Bection No.1| gallons.
a 15 u.p. | 150 8pirit G
H 35 64 Water H

lixruanarion.— The given
slrongths are 20 o.p. and 15 u.p.
Adding these figures mentally
gnthor we get 35, and this sum 35
Wo wet to 15 w.p., the reguired
b, in Section No. 1, Then
soliing under 150 gallons of spirit

i e G (represented by the figure
i, Key, page 2), we find 64
i, bhe exnct water required.

A * Now, to find the extent of the
N, we repeat the setting in
Ny 9, when there appears a
e pesult, viz. 61-7 gallons.]

*| Hoetion No.4 |

15 u.p. | G

30 H

EXAMPLE 5.

I HAVE 128 gallons of spiritat 5

underproof which I want to break
down to 20 underproof. How much
water shall I require, and what will
be the final result ?

Answer:

Exact water required, 2'5 gallons.
Final result, 15-2 gallons at 20 u.p.

SETTING ON RULE.

Section No 1. |

Galicns,
G 20 u.p. 12:8 Spirit G
H 15 2:5 Water H

ExepravarioN. — The given
strengths are 5 w.p. and 20 u.p.
Taking thedifference of these figures
(in accordance with the directions
given on page 21) we get 15, and
this difference 16 we set to 20
u.p., the required strength, in sec-
tion No.1. Then looking under12:8
gallong of spirit on line G, we find
2:5 gallons, the water required.
[Page 19 tells us that 5 tenths of a
gallon=4 pints, so that the exact
quantity of water required is 2 gallons
and 4 pints.]

[*.*Now, to find the extent of the
contraction, we repeat the setting in
section No. 2, when there appears a
diminished result, viz. 24 gallons.]

Bactl

Noa.

G 128 Bpirit \ G

H

20 uv.p.

H 24 15

W that after we have
“pnllons of water, the
iy, the totel bulk now
yh wo hud only put
. Whe final result,
147 gallons at 15
10 tells us that
pints, so that

411 gallons I

THIS implies that after we have

put in 2'5 gallons of water, the
proper quantity, the total bulk now
becomes as thongh we had only put
in 2-4 gallons. The final result,
therefore, is now 15°2 gallons at 20
underproof. [Page 19 tells us that
2 tenths of a gallon=1} pints, so that
our exact quantity is 15 gallons
1% pints.]
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HOW TO REMEDY A MISTAKE MADE
BY OVER-REDUCING.

RRANGI the terms of the given proportion, as under, using the lines A and

B on the Rule.
be found the Answer.

Set the 1st term to the 2nd ;

then over the 8rd termwill

The strength
of the spirit The required The present Th:it
AN
proposed. to e A | SR qof th:
be added [MIxUs]
e of stronger
[rLUE] The present spirit
The required strength spirit Pw 5
strength EVGRIED
EXAMPLE 1. EXAMPLE 2.

I have 48 gallons of Whisky at 30
w.p, which I want to bring up to 20
w.p., with spivit at20 0.p. How much
of that stronger spirit shall I require?

Answer, 12 gallons.

TERMS STATED:—

20 o.p. 30 u.p.
20 u.p. 20 u.p.

ST _— Gallons
40 . 10 2 48

If we set 40 to 10, then over 48
gallons we shall find 12 gallons, the
Angwer,

SETTING ON RULE.

: TERMS STATED :i—

I have 4} gallons of Whisky at 31
w.p. which I want to bring up to 17
wp., with spirit at 22 o.p. How much
of that stronger spirit shall I require ?

Answer, 1} gallons.

22 o.p. 31 w.p.
17 w,p. 17 u.p.
—_— e Gallons
39 5 14 SaS A 1

If we set 39 to 14, then over 41
gallons we shall find 15 or ¥

gallons, the Answer. !

SETTING ON RULE.

A 10 12 A A 14 15 A
B 40 48 B B 39 4B

So that if we add 12 gallons of Spirit
at 20 overproof, the myxiure will be
exactly 20 underproof:

So that if we add 1} gallons qf
Spirit at 22 overproof, the mimture ﬂ.a?i'
be exactly 17 underproof.
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\ MUSEUM %
HOW TO PROPORTION THE SP%i&’ AND
WATER REQUIRED TO MAKE-UP ANY
SPECIFIED REDUCED QUANTITY.

3 Mzrrop.—Sei the required strength T on B to the present strength
on A ; then under the total quantity required to be made up will appear
the proportion of spirit to be used. The remainder is water.

ExampLe 1.

E HOW-mu.ch Spirit at 20 o.p. is
required to make up 4 gallons
at 16 u.p. ?
Answer, 2'8 gallons.
[or, 2 galls, 6} pints : see page 19.]

SETTING ON RULE.

A 120 peoment Lol 4 A

B 84 gieiund spiit 2-8 B

- lixrnanarion.—From the footnote
e lind that 16 w.p. is expressed by
wnd 20 o.p. by 120, We there-
pul 84, the required strength,
), the present strength,

& Note that 12 on rule reads
120 ;: see Key, page 2.)

| nder 4 gallons, the total
fbiuired to be made up,
W gallons, the proportion
W b used. If we put
by of 20 o.p. spirit into
Wi, and fill up with
il hove 4 gallons at

ExAMPLE 2.

OW much Spirit at proof is
required to make up 2 geallons
at 20 w.p. ?
Answer, 1'6 gallons.
[or, 1 gall. 48 pints : see page 197.

SETTING ON RULE.

AL00 Treet  Toumst g A

Requnired
B 80 strength

gplrit 16 B

Exeravarion,—From the footnote
we find that 20 u.p. is expressed by
80, and “proof” by 100. We

therefore set 80, the required
strength, to 100, the present
strength.

[*.* Note that 10 on rule reads 1,
10, or 100 : see Key, page 2.]

Then under 2 gallons, the total
quantity required to be made up,
we find 1'6 gallons, the proportion
of spirit to be used. If we put

.this quantity of proof spirit into a

2 gallon measure, and fill up with
water, we shall have 2 gallons at
20 under proof.

.“5.

ths in the percentage form. Thus * proof” being 100,
We the 0.p. ; “ underproof * is 100 minus the w.p. For
{ be eiwpressed 1105 10 u.p. as 90; and so on,
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OBSCURATION :

HOW TO AVOID LOSS CAUSED BY IT.

Mersop.—Reduce your Rums and Brandies to an extent below the
hydrometer strength equal to the percentage of obscuration.

EXAMPLE.

AY you want to reduce a Brandy to 20 m.p.. and you find from the
permit that it contains 8 per cent. of obscuration. You must reduce

it so that the hydrometer registers 23 w.p. The true strength will then be
20 w.p.—the obscuration causing the instrument to show 89/, less than
the true strength.

WHAT IS MEANT BY
‘* OBSCURATION."

Obscuration means the amount of
strength hidden or obscured in a spirit
by reason of the presence of sweelening
or other matter which interferes with
the correct action of the lydrometer.
It is really the difference between the
ordinary and the distillate strength
ascertained at the time of importation.
It only occurs, however, in Rums and
Brandies, and is not affected by

. reducing. When the obscuration noted
on the permit is added to the hydro-
meter strength we get the actual
strength., Thus:—

Hyd. Str. Obs. Act. Str.

35'2 o.p. + 26 = 378 o.p.
2:5 op. + I'4 = 39 op.
00 op. + 14 = 14 o.p.
06 up. + 14 = 08 op.

188 wp. + 18 = 170 wp.
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SUPPLEMENTARY NOTES.

l HOW TO TRY THE STRENGTH.| CAUTIONARY NOTES ON THE

N~ [)RAW a sample of the spirit in

the test tube at least three-
q\um't.ers full, and stir well with the
thermometer. Note the temper-
ature, and open the table-book to
that temperature. Then take the
hydromefer, and apply one of the
weights to the lower stem—=select-
ing that particular weight which
will cause the instrument to float
with some portion of its upper stem

The weight so applied plus the
(livigion marked on the upper stem
~ ul the instrument is called the
W Indication.” Look in the table
hool for this Indication, and
pposite you will find the hydro-
motor strength -— over-proof or
Wider-proof as the case may be

EXAMPLE.

d “l;;}iff of apirit shows 59° temper-
e, 08 Indication. What is the

liamater atrength ?

Answer 171 u.p.

PRACTICAL HINTS.

il bo wipe your hydrometer
u woft dry ecloth, a silk
lilaf for preference, im-
wllor use. Also when
the box rest it on a
Munnel —never on the
. Il thore's the slightest
siment, don't use it
I, If you have two
I the, don't mix the
¥ A not inberchange-
lnbing, keep the
Piometer and the
whils together to
uribures.

Intersecting the surface of the liquor,

HYDROMETER.

])ON’T imagine that because a

hydrometer is seldom used if
must of necessity be correct. This
by no means follows. The hydro-
meter is a very delicate instrument,
and constantly liable to get out of
order. Hven the Revenue hydro-
meters are subject to the same
disadvantage, but are kept perfect
by being standardised every week.
The worst of it is that when a
hydrometer is wrong it is almost
invariably wrong to the prejudice
of the trader, for it makes the spirit
appear to be weaker than it
really is. Tor this reason, it is
obviously desirable, from an
economic point of view, especially
where the trade is large, to bear the
comparatively small expense of
getting it standardised at regular
intervals. However, for reducing
purposes—provided the spirit has not
been tampered with, and that the
directions given on pages 20 to 23
be faithfully followed—the use of
the hydrometer is unnecessary,
except, perhaps, as a check, to
verify the results. But if used for
that purpose, be careful to test the
strength of the spirit before as well
as after adding the water, indepen-
dently of the strength shown on the
permit.

NEVER, therefore, unreasonably

blame the Wholesale Dealer,
much less the Revenue, when you
can’t find the precise strength re-
corded on your permibt. dre you
sure wyowr hydrometer is rvight?
Probably 70°/, of the hydrometers
in commercial use are one or two
subdivisions light. They want
adjusting.
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PROOFING.

CALCULATION OF

PROOF-QUANTITIES.

Merron.—Set the strength (overproof or underproof) to 100 on line A ;
then under the liquid gallons will appear the quantity to add or deduct,

as the case may be.

ExaMpLE 1.

IN 38 gallons @ 5 overproof how
many proof-gallons ?
Answer 399

SETTING ON RULE.

ExampLE 2.

IH 38 gallons (@ 5 underproof how
many proof-gallons ?
Answer 361

SETTING oN RULE.

A 38 Gallons 100 A

5 B

B 19 ro app

A 38 Gallons 100 A

5 B

B 19 ro pEDUCT

EXPLANATION.

The spirit being over-proof, the
Rule shows 1'9 to add. Then 380
+1:9 =399, the proof-gallons.

EXPLANATION.

The spirit being under-proof, the
Rule shows 1'9 to deduct. Then
880 —1'9=386-1, the proof gallons.

EXERCISES.
No.
Tiiquid Gallons. Strength. Proof-Gallons.
3 20-0 15 w.p. = 170
4 252 8 o.p. = 272
286 45 o.p. - 298
. { 286 45 wp. 273

NOTE.—Fractions of a proof-gallon beyond the tenth are disregarded.
If, for instance, we had 1:28 to add, we would call it 1'2; but if we
had 1:28 to deduct, we would call it 1:3. Example 5 furnishes a case

in point.

]
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VALUING.
COMPARATIVE PRICING OF SPIRITS.

Set any Price on | to any Strength on J ; then over
- any other strength will appear the corresponding value.

ExamMpLE 1.

A Spirit is worth 16/- a gallon at 20
overproof'; how much is it worth
at 10 underproof ?

Answer 12/-

SETTING ON RULE :-
| 12/~
J 10 uwp.

lixpranaTion.—We set 16/- to 20
Wi g then over 10 u.p. we find 12/-,
0 comparative value.

16/- |
20 o.p. d

ExampLE 2.

Spirit at 20 o.p. costs 5{- a gallon

in Bond. How much is it worth,

Duty Paid, when reduced to 16 w.p.,

the Duty being, say, 11/4 per proof
gallon ?

Answer 13/-.

Soruriox.—5/- @ 20 o.p. is found
by the Rule to be equivalent to
4s, 2d. at proof

Add Duty 11s. 4d.
Value 15s. 6d. at proof

Then 15/6 at proof =13/- at 16 u.p.

REFERENCE TABLE.
{-xoGoIN.
HOGGIN. J-QUARTERN, DOZEN CABE.

PINT. QI!;:Z:::IIN. i-un.._l_.._ R e o BOTTLE.
Hh d. s. d. g d. g d g od.
10 0 3 0 1% 16 0 14
5 2 0 3% 0 13 18 8 1 8§
1 4 0 4 0 2 21 4 19
16 0 43 0 2} 24 0 2 ¢
1 8 0 5 0 24 26 8 2 2
110 0 5% 0 2% 29 4 2 5
2 0 0 6 0 3 a3 0 2 8
9 2 0 6% 0 3% 34 8 2 108
2 4 017 0 3% 37 4 3 13
2 6 0 73 0 3% 40 0 3 4
2 8 0 8 0 4 42 8 3 63
210 0 8} 0 4 45 4 3 9%
8 0 09 0 4 42 0 4 0
8 2 0 93 0 43 50 8 4 22
8 4 0 10 05 53 4 4 51
8 6 0 104 0 5 56 0 4 8
b8 011 0 5 58 8 4103
210 0 113 0 53 61 4 5 1%
L 0 10 0 6 64 0 5 4
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TO FIND THE COST OF s%ml*rs
WHEN TAKEN OUT OF BOND.

£ B
Price..28 gallons @ 4/6 . 6| 6|0
Dury..28'5 Proof-Gallons @ 11/-|[15 {13 | 6
STORAGE AND RENT...ovvverans i | 2] 4
QUAREAR  yaiioiaie s cnissisiacs s n oo | s 1 [

Toran £!_§I_3 _4

#.% If this total be divided by the
number of proof-gallons duty paid the
result is the cost per proof-gallon.

THUS ; —
£322 3s, 4d.

= 1d8. E&d.
28'5
or comparative value after reduction
with water, see page 29.]

NOTE.
WHEN spirits are bought in bond on
the original gauge, a loss by ab-
sorption and evaporation must be taken
into account. This loss, however, is
generally a little less than the Revenue
Allowances —a copy of which is given below :

ALLOWANCE FOR LOSS IN YWAREHOUSE.
In Casks under 80 Gallons content.

{For periods nof

exceeding ORDINARY, l T SPECIAL.

1 month 1 per cent. 1 per cent.
" 2 " 2 "

Gy 4 ” 3 ”

1 Year bR 4 "

B 7 " 5 i

3 " 9 (3] 6 "

4 " 11 ” 7 1

5 " 13 " 8 1"

&% The allowance is calculated on the
original proof-quantity warehoused. Thus
a cask originally containing 24 proof-
gallons, would, if bonded for 10 months,
be entitled to one year's allowance, viz. :
59/ ,=12 proof-gallons, if necessary.

+ The “ special " allowance is to cover ewtra
losses caused by defective cashs.

[P.8.—The allowance on WINE {s one
gallon per cask per year.]




FARMAR'S RULE.

‘ : 31

PRICING

PER GALLON IN BOND, OR

WINE
PER DOZEN DUTY-PAID.

MrerHOD.—Set the gauge or yield to 10 on line A, then over
the total cost tn shillings will appear the price in shillings and pence.

ExaMpPLE 1.

A PIPE of Port, 115 gallons ne. 439,
costs £35 in Bond. How much
is fhat per gallon ?

Answer 6s. 1d

SETTING ON RULE.
6s. 1d.
B 700 Shillings

10 A
Gallons 115 B

ExpLaNATION —Setting 115 gallons
fo 10 on line A, we find that 700
- uhillings=6s. 1d. the price per
pnllon in bond.

| NoTE,~115 gallons is represented on
B of the Rule as 115, and 700
llings as 70 : See KeY, pages 2 and 3,
. ’mjf!iud of reading the figures on the

Wile.
1S

EXAMPLE 2.
A PIPE of Port, yielding 56 dozens,
costs £562 bs. (or 1045 shillingg)
duty-paid. How much is that per
dozen ?
EAnswer 18s. 8d.

SETTING ON RULE.
A 18s. 8d. 10 A
B 1045 Shillings  Dozens 56 B

ExXPLANATION.— Setting 56 dozens
to 10 on line A, we find that 1045
shillings=18s. 8d. the price per

* dozen duty-paid.

[NOTE.—56 dozens vs represented on
Itne B of the Rule as 56, and 1045
shillingsas 10°45 : See Kev, pages 2 and
3, for method of reading the figures on

the Rule.]

REFERENCE TABLE.

I - DUTY.

WINE. Standard | Average | Ne. 80° Ne., 42°
Gange. | Yield, @1/3 @ 8-
Garroxs, pozexs, | £ 8. d. £ 8 d.
ROEL. . PIPE 115 56 78 ¢ |17 5 0
Tarragona .. i 115 56 78 0 |17 6 0~
Lisbon, . » 117 &7 7 6 8 1711 0
Hueellns G 117 57 76 8 |1711 O
o 117 | &7 7 6 8 [1711 0
BUTT| 108 52 616 0 |16 4 0
s 108 52 615 0 |16 4 O
PIPE 100 48 6 5 0 |15 0 0O
» 93 45 516 38 1310 O
s 92 44 516 0 |1316 O
i 02 44 516 0 (1316 O

HHD 47 23 218 9. —_

: = 47 | 23 218 9 -

ATM 30 14 117 @ —_

| B0 | N2 117 6 —

" 30 | 14§ | 117 6 —

Phese are the standards and averages commonly recognised by the

i neoessarily indicate the actual output.
iy from any gauge or yield.

 of Bottling runs about 3/6 per dozen case. This includes

The Rule, however, calcu-

|, Lutks, eapsules, paper, packing case, etc.
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PROFIT AND DISCOUNT CALCULATIONS.

PROFIT. | DISCOUNT,

Set the cost-price on | to * Par™ on Set the gross buying price to

. . | «Par? on line K; then over the rate
line K; then under the selling-price |
|

of discount will appear the nett buying

will appear the profit on the cost. Trice,

EXAMPLE. | EXAMPLE.

I buy a spirit at 9s. 4d. a gallon, | Iblly goods at 5s. with 5 0/, off for
What do T gain on the cost by ready cash. What is fhe net

selling it for 18s. 8d. a gallon ? price ?

Enswer 100 °/,. | Answer 4s. 9d.

SETTING ON RULE. SETTING ON RULE

I 9/4 18/8 | | 4/9 5 1
K 100 o/, Profit K
Eas o 20 K 5 9/, Discount Par K
Kry. vl
We set the cost price 9s. 4d. to We sot 5s. to « Par” on line K,
Par on line K, then under 18/8, the
e i t find
celling price, we find 100 o, the then over b9/, discount we Hne
profit on the cost. 4s. 9d. the net price.




PROFIT cALGULATlous

METHOD.—Set the cost price on lifze 1 fo “ PAR™ on im.

SLiDE ltuLE «

{ Ifu.u{'.rmdu

the selling price will appear the percentage pi @"u“u"

g

EXAMPLE.

NOST 4/~ a gallon,
What is the profit ?
ANSWER.
25 9 on the cost, or
20 9% on the return.

and sold for-5/-.

SETTING ©ON RULE :
| 4- 5 |
258 % profit on the cost K
K Par

20% profit on the return KK

NOTES.

A[ L. profit should be calculated

upon the refurns, that is, upon
the selling price; if not, you include
your principal in the profit, which is
neither more nor less than interest
of capital calculated at per annum.

And unless profitbe cal >d upon

the refurns, you
prineipal, or, in other®ords, realise

less profit than you anticipated.

:ciate your

IFor example :—If an article costs
4/ and is sold for 5/—, it is called
25 per cewil. profit; but if you deduct
25 per cent. from 5/- you will find
you have only 3/9 of your principal
left,  The real profit realised, there-
fore, 18 20 per cent., being one-fifth
of i’h.f:lﬁ?mtu amonunt; and if this per-
centage be deducted, your principal
remains the same, viz., 4/.

(i

NOTES—continued.

*.* The object of line KK is to assist
the Buyer, not only by giving him
the amount of profit to mark upon
his goods, but also to find how much
to give for an article to be sold, fo
realise a certain amount of profit.

Most persons calculate profit erro-

neously, even many whose daily
employment is buying and selling.
rise to
Thus,
who calculate that they get 100 per
cent. profit by the sale of an article
for 2o/~ which cost 10/~ ought, to be

This difference has given

much disappointment. those

quite correct, only to enter 10/~ in
their receipt book, otherwise they
depreciate their principal ;
realised being only 3o per cent, on the

the profit

retwins, which is the only correct

and therefore safe standard upon
By the
custom of calculating profit on the
cost price, capital is depreciated in the
ratio of the difference between the
profit on the cost and on the selling

trice.
*.* To find how much to give

which to reckon profits.

for
an article to procure a certain amount
of profit, discount your selling price
by the profit intended to be realised.
Thus, for example, if you want to pro-
cure 109% profiton anarticle to be sold
at 30/-, discount the 30/~ by 109,
which leaves 27/, and this amount,
27/-,is to be given for an article to be
sold at 30/~ in order to realise 109/

profil.



SPECIMEN ACCOUNT.,

Rent and Taxes @ £100
Per annum  ........

Licence (@ £25 per annum

Help ...vvvviveninaninn
GBE. sieisieisinisinisis aisissisiaisis
(Glassware and Breakages
Ice e sty

Sundries (Sugar, Lemons,
o R e

Newap&pars,- Pipes,
Charity (Ball and Club
Tickets, &c.) oesvens

FRIXEUTERT  Givalasiaarenian
Repairs  ....cconee.

INTEREST ON MONEY
INVESTED : —

Stock .. £200
Fixtures 80

5% on £380....

Treats, &¢. .....e -- I

Torar £

Per Dax.

S i T
5| bh,

* 1| 43

- T 2
. 103

v 3
13

2

210

8

5 b

1)1

e | [l e
1 0| 4

| 1 NOTE.

[1: ‘To provide for depreciation of
value of the fixtures and fittings,
spread the entire cost over the
whole term of the lease.
cout of £80 on a 10 years' lease
ararks out 6d. per day.]

Thus, a
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DUTY TABLE.

DESCRIPTION | Insert here any chﬁgc in the 1)ul)r
that may subseguently oceur.
P. B. Spirits ......cooiiiians| 11/«
B. Compounds ............. [ § 1 4
BIRDAY: s miseissiares s aateisiacs 1]3'4 . 12/4
b1t e e S R A 114 1214
Imitation Rum .............. 11/5 12/6
GeDRVR . ..oiaanss s R 11/5 12'6
Liqueurs, Tested. ............. 117 .. 127
Liqueurs, Not Tested ........| — .. 164
U. U. Spirits ... .. A e 11/5 11/6 2 N
Perfumed Spirits ............ 18/1 19/1
Wine (Still), ne 30° .......... 1/3 L] [ e I ‘ ........
Wine (Still), ne 42° .......... 3/- .. e e e el e i diimiainae
Wine (Sparkling), ne 30° ...., — a/9 |. = |
Beer (Mum, Spruce. &e. ... 1 :
exceeding 1215°.. 376 [Pt
Beer ( do. ) me 12159.. 32/- |
Beer (other sors) ..ne 1055°. . 81 !
do. (British) ..ne 1055°. .| st I (PP e S aae l ........
| |
NoOTE.
Duty is chargeable on the Proo/ Gallon for Spirits, and on the Liquid
Gallon for Wines; the only exceptions being * Liqueurs not tested.” and
« Porfumed Spirits,” both of which are charged on the liquid gallon.
+ Tmported in Cask.  § Imported in Bottle. t Per Barrel of 36 gallons.

[For ealeulation of proof-quantities, see page 28.]

@, % T will be useful to note that a fall of 2 degrees in the strength com-
pensates n vise of 6d in the spivit duty. For example: A 17 u.ps
Whisky selling at 21/- a gallon while the duty is 11/-, should, to sell al
the same price, be reduced to 19 u.p. if the Duty be raised to 11/6.
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DUTY ON SPIRITS

IN CASK.

WHISKY BRANDY & RUM HOLLANDS GENEVA
11'- per Proof Gallon, 11/4 per Proof Gallon. 11/5 per Proof Gallon.
. T nty.
(ialls. SD;J.W:II' g:?c!st SD:.tyi-i. gmf E uatly.d. E;(]:]osf' !']1) ustfy'd. (l;ru?losl: &P n:.y d. gal.losl. E s.y d,
-~ 011 0| 38=1814 0 1= 011 4| 34=19 5 4 1=011 5 |34=19 8 2
-1 2 0 /36=19 5 0] 2=1 2 8|35=1016 8| 2=1 210 | 36=1919 7
- 113 0|86=1916 0] 3=114 0|36=20 8 0] 3= 114 3 [36=2011 0
2 4 0[37=20 7 of 4=2 5 4 |37=2010 4| 4=2 5 8 |37=21 2 b
215 0|38=2018 o| 5=216183g=2110 8| 5= 217 1 |38=2113 10
3 6 0)39=21 9 o] 6=3 8 0|g9-22 2 o] 6=23 8 6 |39-22 5 3
317 0 480=22 0 0] T=3819 4 |40=2213 4] 7= 3 19 11 | 40=22 16
1 8 0/41=2211 0] 8=410 8 |41=23 4 8| 8=411 4 |41=23 8 1
419 0 42=23 2 o] 9=5 2 0)|42-2316 0 =5 2 9|42=2319 6
510 0| 43=2313 0|10=513 4|43=24 7 4|10=5 14 2 |43=24 10 11
6 1 0|gg—24 4 p|11=6 4 B|a4—2418 g|11=6 5 7|44=25 2 4
12 0| 45=24 15 0| 12= 616 0| 45=25 10 0| 12= 617 0| 46=2513 9
7 8 0|4g6=25 6 0|18=7 7 4 |46=26 1 4[|13=7 8 5 |46=20 5 2
Tl 0| a7=2517 0|14=718 8| a7-2612 s |14= 7 19 10 | 47=26 16 7
B O 0|48=26 8 0] 15=810 0|u=g740 15= 811 3 |48=27 8 0
B16 0| 49=28190 0]16=9 1 4 49=2715 4]|16=90 2 3 | 49=2719 5
I 7 0|s50=2710 0f17=912 8| 50=28 6 8 |17= 014 1 | 60=28 10 10
DIE 0 g0=33 0 0f13=10 4 0 |g0o=34 0 0]|18=10 5 & |60=34 5 0
0 0 0 |70=38 10 0]19=10 15 4 |70=39 13 4| 19=10 16 11 | 70=30 19 2
S0l 0 0| 80=44 0 0]20=11 6 8 |80=45 6 8 |20=11 & 4 |80=4513 4
L1110 9049 100 |21=1118 0 |90=51 0 Of21=1119 9 |90=51 7 &
4 0 100-55 0 0)22=12 9 4 [|100=56 13 4 | 22=12 11 2 [100=57 1 8
a0 23=18 0 8| - -] 28=13 2 7
I 4 0 [10ths 24=13 12 0 |10ths 24-13 14 ( [10ths
1= 0 1 1]|26=14 3 4| 1=0 1 1]|25=14 5 5| 1=0 1 1
2-0 2 2|26=1414 8| 2=0 2 3|26=141610| 2= 0 2 3
3-0 3 3]27=15 6 0| 3=0 3 4]27=15 8 3| 8=0 38 5
4-0 4 4]128=1517 4| 4=0 4 6]28=1510 8| 4=0 4 &
G0 5 6|20=16 8 8| =0 5 8)20=1611 1| 6=0 5 8
6.0 6 7]30=17 0 0| 6=0 @6 30=17 2 6| 6=0 6 10
T«0 7 8|31=1711 4| 7=0 711 |31=171811| 7=0 7 11
8.0 8 9]32=18 2 8| 8=0 9 032=18 5 4| 8=0 9 1
00 D10 |33=1814 0| 9=010 2|33=1816 0| 9= 010 3
EXAMPLE,

2 S0 ~NOo ;AW N -

{rroof

i i tho Duty on 384 proof-gallons of Whisky (@ 11/- ?

Answer, £21 2s. 4d.

I

" 0-4

e 384 = £21

Pitys—Duty on 38:0 = £20 18 0

4 4

2 4
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ON-LICENCES.

DESCRIPTION.

LICENCE DUTY.

ENGLAND. | |RELAND. ScoTLAND.

T £ e d| £ a| £ & 4

Spirits, Beer and Wine..PUBLICANE. | Qctr, 11th. | Octr. 11th. | May 16th.
£

Rateable value under 10 410 0 410 0 410 0

; w16 6 0 0 6 0 0 6 0 0

,. ¥ 20 8 0 0 g8 D0 8 0 0

v ,, 25 11 0 0 1 0 0 1L 0 0

r 2 30 14 0 O 14 0 0 14 0 0

" v 40 17 0 0 17 0 0 17 0 0

& i 50 20 0 0 20 0 0 20 0 0

¥ " 100 25 0 0 2 0 0 25 0 0

» " 200 30 0 0 30 0 0 30 0 0

" " 300 35 0 0 3 0 0 35 0 0

- - 400 40 0 0 40 0 0 40 0 0

” » 500 45 0 0 45 0 0 45 0 0

» * 600 50 0 0 80 0 0 80 0 0

i ” 700 5 0 0 55 0 0 55 0 0

£700 and over 60 0 0 60 0 0 60 0 0

Beer and Wine ........ RETAILERS.| Octr. 11th. | Octr. 11th. | May 16th

on 4 0 0 4 0 0 4 0 0

Beer ...crsnsrronssiian RETAILERS.| Octr. 11th. | Octr. 11th. | May 16th.

on 310 0 310 0 310 0

BB e v RETAILERS.| April 1st. | April 1st. May 16th.

on 310 0 310 0 310 O

R oy e S RETAILERS.| July 6th. July 6th. July 6th.

on 1 58 0 E b i 1 b @

« Nore.—For Sunday Closing, or for Early Closing, the Licence Duty ig
3th less. For both Sunday and Early Closing, it is 3ths less.
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OFF-LICENCES.

D B
-

DESCRIPTION.

BEER & WINE reraiens

WHOLESALE DEALE RS,
BEER

RETAIL DEALERS

RETAILERS

Licexcr DUTY.

England.

£ s d.
Oct, 11th
300

Ireland,

£ g d.
Oct. 11th
300

Seotland,

£ g d.

REMARES.

Sale restricted to less than
4} gallons of beer, and less
than 2 gallons of wine, to
same person at one time,

July 6th
36 1

July 6th
15 0

Oct, 11th
1850

Oct. 11th
3 6 1

Oct. 1st
16 0

ot less than 4§ gallons, or
4 dozen reputed qoarts,

Quantities loes than abave

Tnder £10 valuation.

£10 and npwards (Grocers,
Heotland.)

TABLE BEER::aetaiiens!

5

July 6th |
05 0|

July 6th
05 0

WHOLESALE DEALERS

WINE

RETAILERS

July 6th
10 10 0

April 1st
210 0

July 6th
10 10 0

April 1st
210 0

Priee not to exceed 13d.
per quart.

Any person may gell For-
eign wine in Hond in entire
casks or pnekages, in quan-
tities not less than 100 gals.

To be sold in reputed pints
or quart bottles only, and
in less gquantities than 2
gallons, or 1 doz. repul
pints at one time.

May sell wine and sweets
in any quantity.

SPIRITS A BEER

OCERS

SPIRIT
GROCERS

sssssnns

BEPFIRIT DEALERS]

BPFINIT DEALERS

July 6th
10 10 ©

July 6th

smmit peacens] 2 2 0

»

July 6th
3 30

gt
hmml—'ﬂa
arwo®n,,
“l"‘\'lﬂbﬁ'lfrg

July 6th
1010 0

July 6th
2 2.0

Rateable
Value

Under £10
» £20

o £%
o230
Y240

» E60
£50 & over

May soll
and

off, but can-
not sell spirit
to & reckifier,
dealer or re-
tailer with-
ontudesler's
licence.
Under£25 | spirit grocer
-+ cannot have
i £40 | Becrretail off
,  £50 llc?:ee w]}:h.
ont & beer
250'&over dealer's
licence,

Wholesale (2 gallons and
upwards. )

Tetailing Forelgnliqueurs
in bottle, under 2 gallons,
and notless than 1reputed
quart.

Retalling British or Fm'alfm
Spirits, and Forelgn Llg.
uenrs in

gallons and not legs than
lreputed quart, & Forelgm

Uﬁueurs n the bottles in
which imported,
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NOTES ON

LICENCES” v

PERMITS. —Spirits sent out,
when the quantity exceeds one

gallon of same denomination, must

be accompanied by a Certificate.

- - :
* W

BEER DEALERS are not
allowed to sell less fhan 4%
gallons or 2 dozen reputed quarts
at one time to the same person
without a retail licence. :

2 e Y
£ i B

BREWERS for sale may sell
at their brewing premises beer
of their own making in quantities
not less than 4} gallons or 2 dozen
reputed quarts without s dealer’s
licence.
: e i i
BREWERS' AGENTS who
do not keep sfock are mnot
required to take out a licence.
o B i
HE beer retailers’ licence in-
cludes the sale of cider and

perry.

IN England and Ireland holders

of a Beer Dealers’ retail off-
licence may obtain a Wine Retail
off-licence under the Refreshment
House Acts, and, in England, if
licensed as a Spirit Dealer, a Spirit
Bottle Ticense for the same
premiscs.

HE Refreshment House Licence

(England 10 p.m. to 5 a.m., Ireland
10p.m. to 7 a.m.), for premises under
£30 valuation is 10s. 6d.; £30 and
upwards, £1 1s. The year com-
mences April 1st.

o~

e
i

YWWHEN a person holding any of

the licences named in column
A takes out for the same premises
the licence opposite in column B,
he is to be repaid a fourth part of
the first named licence for each
unexpired quarter of it, the quarter
in which the new licence is taken

out reckoning as one.

A

On1GINAL LICENCE.

Nxw LicExcE.

Beer Retailer, on or ofl

Deer Ketaller, off
(1 WmIV)

Beer Retailer,on ....
Beer Retailer, off ...
Beer Retadler (Pub) ..

Boeer Retailer (Pub) ..
Beer Dealers' Additi.
onal Retail

Beer Dealers' Additi-
onal Hetall ..

Beer Retail {Gmcm']
Scotland

Beer & Wine Retailer|

Beer Dealer cecevnssss

Cider Retailer ..

Bpirlt Dmlera
Addit

al Bottles,
(£33 ] PR

Spirit Dealers:
Additional Fg. Liq
ueurs (£22 0) .

Spirit Grocer (Itelnnd1
Spirit Grocer(Scotland;)
Wine Dealer ..........
Wine Retaller, on or off
Wine Retailer, off ....
Wine Retailer, off ....

Wine Retailer, on ...
Wine Retaller, Grocer

(Scotland)
Swoots TRetailer, on or

Sweets Itntl!ler, on or

Sweats Bnl.n!lnr, on or

Refreshment Housze ..

Bpirit Tetailer (Pub)

Beer Retailer, on

Beer & Wine Retailer
on,

Beer & Wine Retaller
off.

Beer & Wine Betailer
on

Spirit Retailer (Pub)

Spirit Retailer (Pab)

Beer Retail, on or off.

Bpirit Retailer{Groeer)
Spirit Retailer (Pub)
Bpirit Retailer (Pub)
Spirit Retailer (Pub)

Splrit Retailer (Pub)

Splrit Retailer (Pub)

Spirit Retaller (Pub)

Spirit Retailer (Pub)
Spirit Retailer (Pub)
Spirit Retailer (Pub)

Wine Dealer.

Beer & Wine Retaller,

off.

Beer & Wine Retailer,
oL

Spirit Retailer (Pub)

.| Wine Retailer, on or off

.| Wine Dealer.

Bweets Dealer.
Wine Retailer, on.

-




FARMAR'S RULE

FINING.

BEER.—Dissolve in hard ale
sufficient isinglass to form a
thick jelly. A pint of this to a

barrel will clarify any beer.
# o9 @ W

SHERRY .- Mix 1 ounce of
ininglass with 1 pint of the wine,
nnd heat gently over a fire. When
oold, add the white of 3 eggs well
bonten, and a dessert-spoonful of
wilt, Whisk up well with a little of
ihi6 wine ; then pour into the cask
il rouse well, This quantity
_ liow sufficient for a hogshead.

L

ORT. - To the white of 8 eggs
Jl beaten into a froth, add a
vl wpoonful of sals, and a little

wine. Mix them together,

and rouse well after putting into the
cask. This quantity makes suffi-

cient for a hogshead.

o

= % B %

WHHSKY andGIN.—When

RUM.- A small quantity of pine
apple, honey, or pranes, will greatly
improve the flavourof Rum. When
using prunes, beat well with a

hammer, so as to break the stones.

render it easily workable.

N, —Keep the Rule in a dry and warm place, to

Should it become

atiff, remove the slide, and rub a piece of fine
emery paper along the grooves; then polish

off with a little mutton suet.]

[For Accessories, ses page 64.]
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GAUGING )
FOR CAPACITY.

MrrHon.—Take the three dimensions of the Cask, viz., the Liength,
Head, and Bung—being careful to make proper allowance for thickuess

of wood. If the cask is of * bad figure,

» deduct from the length sufficient

to compensate for deficiency of curvature in the quarters.s* Chalk the net

dimensions on the front head. Then ¢

ast out the Content—using the Rule

in connection with the Table of Factors on page 43 Thus: - :
Set the sum of the two Factors to 10 on Line A; then under the Length

will appear the Content of the Cask.

ExampPLE (2).—Find the Content
of a Brandy Hogshead from the
following dimensions :—

Length Head = Bung
340 22-4 26°1
Answer 59§ galls.

SeTTING ON RULE:—

ExampLeE (b).—Find the Content
of a Port Pipe from the following
dimensions :—

Length
‘496

Head Bung
22°6 319
Answer 119 galls.

SETTING ON RULE:—

A 34 Length 10 -A A 496 Length 10 A

B 59% Content 176 B B 119 Content 24 B
Key.—The head factor = 4738 Key.—The head factor — 4823
The bung factor — 1:2864 The bung factor = 19216
The sum = 24039

The sum —= 1-T7602
Setting this 1:76 to 10on line A, we
find that 34 length — 59% content.

Setting this 2-4 to 10 on line A, we
find that 496 length — 119 Content.

GAUGING NOTES.

& The following Seale of Allowances affords an excellent guide to the Gauger

—the figures denoting average deductions from the Length in tenths of an inch.

. 8to 16
Oto 2 %

Port Pipes it
s ..

e Hhds.... 6to 8|Burgundy Hhds Oto 2 . Hhds.. 0 to
Marsala Pipes.. 10 to 15 | Brandy Pieces.. 4to 8 » Qr-Cks 0 to
) Hhds .. 6to10 ., Hhds... O0to 3| Whisky Puns. 6 tel
Tarragona Pipes 8 to 15 « Qr-Cks.. O0to 2 v Hhds . 4 to 1
Hhds 0to 2| Rum Puns.. ... 5to 8| . Brls.. 8 to

Madeira Pipes.. 16 to 25 | Rum Hhds.... 3to
Hhds. .
Sherry Butts... 10 to 12| Claret Hhds.... 0to 2

bto 13 » Brls.... 2to &
Geneva Puns.. 4 to 10

*.* Wine qr-casks, octaves, and } octaves are gauged by the Diagonal oniy.
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Diameters.

bl ameters.

10
10
11
11
13
12
18
18

4
14
16
16
16
16

7
17
18
18
19
19

1]
20
a1
21

23

22,

28

28

24

24

.25

2

26

26

a7

; 1 .27

iy 7466 7 -7669| *7728! 7777| *7881 24

.| 1:4805| 1-49111°6017 1:5124|1°6281| 1.5888, 1:5446) 1-5554 24

i B *7905| '80LO| +8106| *BI61| *8217| +BATS 9| +8385 29.

.. 16881]1-5991 | 16101 1-6211|1-6822| 16433 29

8498|8564 8611 *B668| -5726) 8788|8841 gg

81

51

82

62

5

| 10916 ’0979 11043 1- Tl0 1 1173 1-1248)1- lS(lB 1°1569|1-1484 84

Lo 1Hag| 91958 /20871 9-2217 | 2-2846 | 2-2476/| 2-2607| 2-2788|2°2869 84

oo| 11666(L°1682(1°1699)1-1765/1-1882|1-1899 | 1-1966/1-2084 | 1-2101 85

L o| 8188] 9-8265| 2-8397| 28551 |2 8664 28798 2,8938| 34067 |2+ 4202 85

oo | 108957 | 1°2805)1+2378) 1 2441{1-2510(1-9578|1-3848(1-2717 | 1-2787 86

i | 84475 2 4009) 2-4746)| 2-4883 | 25020 |2-5168| 2:5206| 2:5434 | 25578 86

il | 186 12006/ 1+-8066| 1-8186|1-8207 | 1-3278) 1'5849|1-3410|1-8401 37

N | BEGR) 259021 2-6182) 2-6273| 26414, 2-6565] 28697 | 26889 | 26982 a7

AL La6nd) 1 8706] 1-8778| 1-8850| 18928 |1-8995( 1-4088| 14141 1-4214 &8

3 7008| 27412) 2-7556) 2-7700| 27545 |2-7991| 2-8186| 2-8252 | 9-8498 |2+ Bung .. 88
743 29869, 9:0019| 2-9166| 2-9814| 29468 298181 29763 29918

nuulllw.sr 5 8¢ Oo!'a’ls Dﬂsu 80821 {8 0974 8+1127| 8:1281 | 8:1485 Bung .. 40

Ihe diameters are greater than here shown, halve them and quadruple
oy 1 hus, suppose 70 Head, 80 Bung. Halving them we get 35 Head,
g e Juctors for which amount to 4-1780. Multiplying by 4 we get
e frue sum.
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GAUGING FOR GCAPACITY.—CoMuc’

(¢).—To Fixp i DIAMETER FROM

THE CIRCUMFERENCE i

Carry the string or measuring fhpe
round the cask. Set this measure-
ment to 813 on line A, then under
«10"” will be found the external
diameter of the cask, From this
external diameter deduct the thick-

negs of two staves.

Exampre, —The circumference of

a cask is 90 inches: what is the

internal diameter—assuming inch
wood ?

Answer 26'6.
settina| A 313 10 A
ONRULE| B 90 286 B

Key: 286 less 2 inches =— 266.

(d) —To Fryp raE CONTENT FROM

THE ULviee.

Take the Bung and Wet-inches,
and . proceed as directed on page
12 —only that instead of reading the
Ullage the
Content, read the Content over the
aecertained Ullage.

under ascertained

!

(¢) —To Frxp THE CONTENT FROM
THE DIAGONAL :

Insert the dip-rod, with the diago-
nal line uppermost, through the
bung-hole in a slanting direction, so
that the point shall reach the inner
chimb where the bottom stave joins
the front head—observing the mark
on the rod nearest the centre of the
bung-hole on a level with the inner
part of the stave. Then take a
similar dimension towards the back
head, and average the results.

Exaxpre.—A cask diagonals 20
gallons one way, and 30 the other.
What is the content ?

Answer 29} gallons

*,*If a diagonal-rod is not handy,
measure the distance in inches
and tenths by means of any plain
rod chisel-shaped at one end, and
afterwards measured by measur-
ing-tape or footrule : Cube the resulty
and divide by 441.

Exaspie: 4 cask diagonals 2
tnches. What is the content ?
Answer 351 gallons nearly

KEy.
2X2WxXB _ goy
441

Cavrron.—The Diagonal line au
means for ascertaining the content '
rveliable only for small casks, sucl
& octaves, octaves, and qr-casks.
larger casks it isa close approximatiy
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(- f)-—To GavGe Ax Ovarn Cask.

Find the Length, the mean-pro-
portional Head, and the mean-
proportional Bung, From these
dimensions cast out the Content as
directed on page 42,

*_* The mean-proportional of any two numbers
Iu found Itiplyi them together, and
vibracting the square root.

The Length of the Cask is first
tnken ; then the lesser and greater
[lead diameters; then the lesser
nnd greater Bungdiameters — proper
wllowanece, of course, being made
[or thickness of wood.

ExampLE—Find the Content of an
Opal Cask from the following dimen-
#long :—

Tamgth, . Head. Bung.
Bid 840 x 509 3892 x 558
Answer 198 gallons

Ky,

1o 6. root of 340 x 509
'l sq. root of 392 x 55'8
Then we write down
Longth, Head. Bung.
B34-4 416 46+
Moo poages 42 & 43 for Casting-out
B bont.

(1). ~To Gaver o CYLINDES.

= 416
= 467

wlor by -002832. If the result be
Wlliplied by the length or height
Alin Oylinder, we get the Content.
il bio multiplied by the height of
lnor, we geb the Ullage.

———

WAMPLE- - Find the Content and

yo ol o Cylinder (standing) from

fullowing dimensions :—

ﬁl hit, Wet. Dismeter.

355 46-9

Answer 249 Content,

221-1 Ullage.

Kuy.
% 400D x -002832 = 6-22929
0020 % 40 =249 the Content
W80 x 85:5=221-1 the Ullage

_If/s;n:m:f\’_-
Tt 45

—_— AL musEum —_
(h).—To Gauce A%‘!Mﬁ? & Var.

Measure the top and bottom
diameters, and the perpendicular
height, in inches and tenths.

Add together the square of the top
diameter, the square of the bottom
diameter, and four times the square of
their average. If the result be multi-
plied by the perpendicular height, and
again by "000472,* we get the Capa-
city or Content in Imperial Gallons.

ExampLE—Find the Content of a

Tapering Vat from the following
dimensions :—

Perpendicular Top Bottom
eight. diameter, dismeter.
(inghes:. (nehes).  (inches).
50 80 120

Answer 1434 gallons.

Key.
80 4- 120 _ 100 Average diameter.
80 x 80 = 6400
120 x 120 = 14400
100 x 100 x 4= 40000
60800

Then 60800 x 50 x 000472 = 1434,

Norz.

If the vatis oval as well as tapering,
the top and bottom diameters must be
mean proportionals.

To ascertain the Ul'age, find the
“top” diameter from the eircum-
ference taken at the perpendicular
height of the liquor.

s This multiplying factor isobtained
by dividing siz cireular divisors into

Thus 1 —000472.

353036 x 6

unity.
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STANDARD SIZES OF CASKS.

| Tsunl Tsual |
Tieseription. | ot Deseription. Caraity. Dreseription, c;-’:',ﬁﬂ,_
...... Pipe 117 —120: | Byrgunpy Hhd.| 48 — 50 | GENEVA ....Hhd.| 52 — 61
v... Hhd. 69 -- 60 | MADEIRA....Pipe| 92 .- 97 »  ..Qr. Caski ga — 85
Qr. Cask| 29 — 30 i .. Hhd| 44 — 49 [ RUM.cvvvn .. Pun, 103 - 115
....0ctave| 14— 156 ” Qr. Cask - ..Hhd.] 57 — 63
e }-OctI.la.ivo 111':; —121! MARSALA. --‘.gtillfje ilg —‘x}g Waitiss BaPrrol lgg -—-14!%
TarrAGONA Fipe ll7 —l1: " [ ’ il HISKEY ..FPun. —_
5 .. Hhd.| 58 — 60 " Qr. Cask| 22 — 24 » ..Hhd.| 54 — 57
» _Qr. Cask| 38 — 28 | HOCK ....4 Aum128 - 182 4 ..Barrel| 27 — 81
1 SHERRYDble Butt(220 — 284 . «v.s3 Aum| 94 —104 | BEER ......DButt| 108
" .. .. Butt/109 —113 " vo.od Aum| 60 — 64 A i Pun 73
I s eess Hhd.| 56 — 7 <e.. Aum| 80 — 52 A Hhd 54
s --Qr. Oask| 87 — 28 | BRANDY ....Fiece(116 —1256 o ++.. Barrel 86
4w . Octave 14 A ....Hhd.| 68 — 61 T .. Kilderkin 18
w -.1-Octave 7 »w _ --Qr. Cask| 29 —81| ..., Firkin 9
CLARET -...Hhd.| 47 — 48 » Largs Octave| 17 — 20 R | S Keg| [
s .Qr.-Cask| 28 — a4 4+ Small Octave| 16 — 17 o SRR 43

*Norg.—Some Marsala Hogsheads are imported in Casks similar in size to Sherries,
to meet the exigencies of the Whiskey Trade. i

PRACTICAL GAUGING.

Arnowne for thickness of timber, take the dimensions in the following
order —especially if there is a tier of Casks to gauge:—

1.—Back Head 3.—Perpendicular Bung | 5.—Length
2.—Cross Bung 4.—Wet Inches. 6.—Front Head.
[#,% Take an average between 1 and 6, and 2 and 3.]

To FiND WHAT ALLOWANCE IS NECEssARY ForR ‘‘BAD FIGURE."
Place the Liong Calipers as in taking the Length, allowing them to
rest on the Bung-hole perfectly level. Then measure by means of the
Dip-rod the perpendicular space from the cask to the calipers half way
between the bung-hole and the chimb, and also the space between the chimb
and calipers. Divide the first distance by the second, and

If the quotient is -23.....Take all the length.

N » 26....Allow 19/, off the length.
i = Mgl o Ay 3
- b B0 aof, -
’ E 32 .., 49, p
_ . 34.... , 59, ;
: . 38.. . . 69, P
i . 42.... , 7o, Y

For ExampLE—Say Sherry Butt
gth., Head. §§n§ 1st Distance 2ad Distance

106 =+ 385=-30=3%,
Then 89/, off 42:5=1-2 .... ....

413 261 332 =112 gallons content.
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L MUSEUM

ENGLISH AND FRENCH MEASURES.

Litres. Gallons. | Litres Gallons. | Litres. Gallons. | Litres. @allons.
1 = 02201 11 = 2-4211 30 = 6:6030 400 = 88-0400
2 = 04402 12 = 2-6412 40 = 8-8040 500 =1100500
3 = 06603 13 = 2-8613 50 = 11-0050 600 = 132-0600
4 = 08804 14 = 30814 60 = 132060 700=154-0700
5 = 1-1005 15 = 83015 70 = 15:4070 800 = 1760800
6 = 1-3206 16 = 3-5216 80 = 17:6080 900 =198-0900
T = 1-5407 17 = B8-7417 90 = 19-8090 1000 = 220-1000
8 = 17608 18 — 39618 100 = 22:0100 290 = 440-2000
9 = 1-9809 19 = 4-1819. 200 = 44:0200 3000 =660-3000
10 = 2-2010 20 = 4-4020 300 = 66:0300 4000 =S$30-4000

UALLONE. LITRES. GALLONS, LITRER. GALLONKS, LITERS. GALLOKH, LITRES,
1 =  4b4 83 — 14998 65 = 29582 97 = 44071
9 = 909 84 = 15447 66 = 299°89 = 445'26
B = 1863 8 = 15902 67 = 80440 99 = 449'80
A = 1817 86 = 16856 68 = 80895 oo = 456484
h 22+72 87 = 16811 69 = 81850 101 = 458'88
] 27426 = 172'64 70 = 81804 102 = 468'48
7 #1680 89 = 17719 71 = 383268 108 = 467'96
H 46°35 1 40 = 18174 | 72 = 92718 104 = 47250
i 40°89 41 — 186'28 78 = AB167 105 = 47705
0 4543 42 = 190'82 74 = 88621 106 = 48169
1 49°98 48 = 19587 76 — 340°76 107 — 48618
il 6452 | 44 = 19981 76 = 84530 108 = 49068
] 59°06 45 — 204'46 77 = 84984 109 = 48532
i 4561 46 = 200:00 78 854°80 110 = 499'76
f 0815 | 47 — 1804 79 35898 11 = 50431
3 7960 48 — 218'08 80 463485 112 = 608"

7724 49 - 922'68 #l 868'02 118 = 518-89

8178 60 = 22717 a3 37256 114 — 517+94

Hi-82 51 — 28171 &8 877°11 116 = 522448

90-86 B2 — 233'26 84 — 88166 116 = 52702
- a5l 53 — 240°80 85 #86-19 117 == 68157
o 009s | b4 = 245'84 86 = B90T4 118 =" 58611
o 10450 b5 — 24980 87 - 8528 | 119 — 540°65
~ o 109°04 56 = 925448 88 = 89981 120 == 045°20
= 11859 | 5T = 96897 89 = 404'86 200 -~ 008'69
“ 11818 | BB = 28852 90 — 40891 300 = 1865:08
19907 59 = 206806 91 = 41845 400 = 1817'88
w1978 60 = 27260 92 — 418:0C 500 == 227172
w1196 61 = 277’15 98 = 492'54 600 = 272607
18880 63 = 281'69 94 = 42708 700 = #180-41
o 14084 63 = 928624 | 95 = 481'68 = 368476
o 148D 64 — 20078 | 98 — 48617 900 = 4089°10

e o convert decimals of a gallon to quarts, multiply by 4; to pints,
liy B3 Lo gills, multiply by 32. Thus 2:4211 gallons=2 gallons,
[ 4211 % 62=13-4752, or 134 gills nearly].
(Ao slandard for the Imperial Gallon is the space occupied by 10lbs avoirdupois of
oF Wl 14" Fabrenheit, with the barometer at 80 inches. This space Oﬂﬁpf&uﬂf in
W U4 for rectangular vessels, and 858086 for cylindrical vessels. The square
Wimliers are called Gauge-Points ; the square gauge-point being 16:65, and the
it 1899,  Thus. a cylinder measuring 1879 inches in diameter contains an
for every inch of its depth. The standard for the Litre is the volume of
{motros, or 1 kilogramme, of distilled water at 4° centigrade.
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HYDROMETER AND THERMOMEYER
COMPARISONS.

-

‘| £ 1) ianae g - o
= H H H i
:I g P40 boo  H- -
= = a : H
%I - ] 150 H 0170
= = - N B 3
= E i 180 H i
H |, £ 0 1 H
gl ] g ™ H Htso
£ S g i
o - 1% 160 E__PD ;
E = i £ i
gsI = i 150 H. H
L} 2 - B B s S0
é. z s [ o H—eo |
£l s a H 0 B He
g - s e B ' I‘IE 3 H 10
" & ‘.; s 10 5_ E 20 2: S0 oH 1
4 = ] - =8 H
28 | 2 EHH20 EE—{uo §f Hig
I : @ 00 % ] B0 =R
- 5 S 4 £ o zH dfj-"—‘ﬂ
g = 20 < o £ 2 o« h
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8 1 H ]
H & H H_lon
= 70 : i
g 7 B H
= 60 H H~
- 0 H :
H H H—io
E 50 50 iTe) g
& g
: % e -8 [ 2R £ S oo
- 120 20 -
g o H
= 0 10 H—ilo
: o i) 1
= Q 1o Orio ’
W " L/ "W 2 -

Tho above hydrometer comparisons show equivalent strengths according to the
yitoms in nse. Thus 25 Cartier, 128 U.B America, 64 Gay-Lussac, and 12 o.p.
i practically one and the same thing. With regard to comparison of Wine
. linwever, bear in mind that to get the *degrees” in Sikes, the U.P. strength
W0 doducted from 100 Thus, 16°=84 u p ; 28°=72 u.p. ; 86°=65 w.p, and so on.
iy b0 Lhis, 20 Gay-Lussac=386 degrees Sikes.

e Unlted Kingdom, ** Proof-Spirit " is 12—18ths of the weight of an equal volume
Il water b 61° Fabrenheit ;. epecific gravity 9187 at 62°: and the proportions of

4 Wluohiol aond water contained in 100 parts by volume, 57'06 and 42-94 respectively.

8 Bloohol nt 00° F. has a density of -7938, and is 756'256 o.p. by Sikes's hydrometer,

1 0 nbnolnte aleohol, strength 100, has a specific gravity of 7947 at 156 Centigrade.

Blnten, ** Proof-8pirit ™ contains half its volume of abeolute aleohol; and In

fn woll as in France Germany, strengths are expressed in degrees ol



50

FARMAR'S RULE.

=

) J

VINTAGE CALENDAR.

[«*.The following are considered by Connoisseurs to be ** Good ”’ vintage
years. Those marked * are * Very Good.” Records are taken up to 1903,
and subsequent recordings may be inserted in the spaces left.]

Braxpi. | PorT. SHERRY.
1870* 1847+ 1873
1872 12‘;‘; 1874
1874 1851° 1875
1875 | 1852 187

1853* 1879
1878* :
1880 1254 189

15e0 1882*
188l 1862

1863« 1885
1884* | 1867 1887
1887* ig"‘;‘?)- | 1890
1880 | jonge .| 1891
1890* 1875+ | 1892
1892 1878* 1894
Thga 1881- 1895
ia0s 1884 1896

1885% | 1897
1896 1:87' 1898

90

1898

1896- | 1900
1809* 1900r | 1901
1900° 1908 1903*

. [ __|Hocx axp| CHamM-
JLARET. 1Bunqum!|| Mosarre:| TAGNE.
1864* 1868 1865* | 1868
1869* 1869 1868* 1870
1870+ | 1870 ' 1870 1872
1871 1874% | jg74+ | 1874*
1877 |
1874 1876 1878
1878 i
1875 Sids 1880 1880
1877 1885 | 1884 1884*
1878 1886 | 1886 | 1889°
| |
1887 1887 1889 | 1892
1888* | 1889* | 1892 | 1893*
| |
1889 1890 | 1g93* | 1895
1890+ | 892" | 195 | 1898
* |
1891 898" | jge7 | 1899
1898 e 90 | 1900*
| 1895 1900 ]
1898 S5a | 1908
1899* | 1gog |
1900 1900 I
1903 1903




FARMAR'S RULE.

2.,

Standard Classification of Oﬁi'r% S.

1st Growths.

Chitean Lafite ..........Pauillac.

. Marganx ......Margauz.

. Latour.... .. Pauillac.

- Haut-Brion ......Pessac.
2nd Growths.

Monton...... Sl asiainee s e POULILEC,

Ranzan-Ségla, ......... Margauz.

Itauzan-Gassies.......... do.
Liboville- Lascases ......St. Julien.
Liboville-Poyferrd ...... e do.
Liboville-Barton ........ do.
Durfort Vivens..........Margauz.
Linscombes ......eennzeue do.
Groand-Larose-Sarget . .St. Julien.
Uruand-Larose-Bethmann  do.

Brane Cantenae  ........ Cantenac.
1ichon Liongueville .. .... Pauillac.
Pichon-Longueville-Lalande do.

Duern Beauncaillou .. .. .. St. Julien.

Montrose

3rd Growths.

LY . Cantenac.
Chitoan ’Tssan ........ do.

cees-seasMargauz.
........ Cantenac.
mnr ............... do.
T R
RN LN o5 aiavas Margauz.

T A St. Estéphe.

BRES . e Margauz.
do.

4th Growths.
Plorre Bontemps . . St. Juhen.

e St. Estéphe.
Blyuhavello . 8t. Julien.
AR Cantenac.

U’ Estournel ... ... .. St. Estéphe.

5th Growths

Pontet Canet ............Pauillac.
Batailley...cooevenrina. do.
Grand-Puy-Lacoste. .... do.
Ducasse-Grand-Puy .... do.
Liynch-Moussas........ oo do
Lynch Bages....... oo
Danzac ...... v esvaen e Labarde.
Mouton-d’Armailhaeq .. .. Pauillac.
LeTertre ...ccocvenuannnnns Arsac.
Haut-Bages..............Pauillac.

PédesclaliE.cevsaiansosvs s

Belgrave............. S8t. Laurent.
CRMENSAs . .eneiisneans do.
Cos-Labory ..........St. Estéphe.

Clerc-Milon......ssss .. .. Pauillac.
Croizet-Bages ..vvevsen.  do.

Cantemerle ......:seeses Macau.

The following are the Ist Growths
of the SauTerne district (Chéiteau
Yquem standing alone in superior-

ity) :—
Chitean Vigneaude Pontac Bommes.
Chiitean Lia Tour Blanche. . Bommes.

Chéitean Peyraguey ...... Bommes.
Chétean de Suduiraut .. .. Preignac.
Chétean Coutet..eweene ... Barsac.
Chitean Climens .......... Barsac.
Chétean Guiraud........ Sauternes.
Chiteau Rieussec ........ Earyues.r

Chéteau Rabant .......... Bommes,
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BLENDING.

Mernon : —Arrange the given Strengths or Prices in

any stated order.

Insert under each the

average required, and take the lesser from

the greater in each pair.

The proportions

of the mizture will then appear in REVERSE

arder,

ExampLE (¢).—In what pro-
portions should I blend two spirits,
at 14 o.p. and 4 o.p. respectively,
to make up 20 gallons af 8 o.p. ?

Answer 8 and 12 gallons
respectively.

STRENGTHS STATED:—

114 104
108 108
6 4+ 4 = 10
Then (reading from right to left) :—
GALLONS.
4 of 20 gallons = 8 @ liop.
Hof20 = 12 @ 4o.p.
SETTING ON RuLe:—
: A 4 8 A
1st result B 10 0B
. A6 12 A
2nd result 510 50 B
PROOF BY THE PEN:—
Pi. Galls
8 galls. (@ 14 o.p. = 912
18 . (@ 4 o.p. = 12'48
5 » (@ 8 o.p = 2160

ExampLE (¢)—In what pro-
portions should I blend two spirits,
worth respectively 3/- and 3/8 a
gallon, to produce a mixture worth
3/3 a gallon ?

Answer: In the propor-

tions of 6 and 3.

PRICES STATED:—

3/- 3/8
33 -1 38 =
—;3 ';5

Key—The proportions (reading
from right to left) stand thus :—

To every 5 gallons of the 3/- spiril
add 3 -~ » 3/8

ProoF BY THE PENi—

5 galls @ 3/- = 16

Then 26 < 8 = 3/3 av _-
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AVERAGING VALUES OF BL% S.

Mzuraop.— Multiply each separate quantity by its own Price, and
divide the sum of the results by the total quantity.

i
EXAMPLE (a).—What is the aver- |  EXAMPLE (3).—What is the aver-
age value of the following Blend :— | age value of the following Blend :—
|
|

120 gallons at 3/6 | 132 gallons at 95'!5
) ,l'l_
- 3 Bl | 20 , 7/6
0 . 50 (Water) —
Answer 4/3} | Answer 3/4
PRICES:— PRICES —
B 4 shillings s 4 shillings.
4 6 x 120 = 420 8 6 x 120 = 420
b 0 x 40 = 200 gg";g=fgg
5 =
g < - (Water) 50 = 0
i 740 **230 770
Mhon 770 < 180 = 4/3% Then 770 < 230 = 3/4

TTING ON RULE:— | SETTING ON RULE:—
* 427 A ' A 3-34% 1A
770 B ‘ B 770 230 B
NOTES.

The Rule here expresses the Answer 4'27, meaning 4 shillings and
Undredths of a shilling. Any decimal of a shilling may be
ted to pence by multiplying mentally by 12. Thus 27 x 12 =
ponce, or 3}d. nearly.

milarly, 3-34 = 3/4.

.-NO notice is here taken of the Contraction in Bulk which necessarily
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FORTIFYING.

==\

[SiMPLE PROPORTION:

Use the lines A and B on the rule. ]

The The
strength required
of the strength
fortifying of the
Spirit. ‘Wine.
* 3 *
The The
required present
strength strength
of the of the
Wine. Wine

The The
"
SReuBky quantity
of
of
Wine
5 ba Spirit
fortified. required.
1

EXAMPLE (a).—How much spirit
at 64°2 o.p. is required to fortify 108
gallons of wine, from 34 to 40
degrees ?

Answer 52 gallons.

Terms STATED:—

ExampLE (b).—How much spirit:
at 64 2 o.p. is required to fortify 108
gallons of wine, from 25 to 30
degrees ?

Answer 4 gallons

TERMS STATED:—

164-2 40 164-2 30
40 34 30 25
1242 @ 6 :: 108 : 572 134-2 6 Y 108 - ua
SeTTiNGg ON RULE:— SeTTING ON RULE:—
A 52 6 A A 4 6 Al
B 108 1242 B B 108 1342 B

Kry.—We set the 1st term to the
2nd ; then over the 3rd term we
find the Answer.

Krr.—We set the 1st term to tha
9nd; then over the 3rd term wa
find the Answer.

% Subtract the one from the other.
Nore—The expression * Degrees

100 gallons of the wine.

#,¥* Wine may be Fortified in Bond up to 40 degrees, ‘but not more th
10 proof-gallons of spirit to every 100 gallons of the wine may be used.

» literally means * Proof-per-cent.”
Thus, ‘¢ 34 degrees” means that 34 proof-gallons are contained m ever




-y
i,

/ %
FARMAR'S RULE. ="t 55

USEFUL ULLAGE TABLE FOR LYING"@AS%(S.

A - PORT SHERRY MADEIRA | CLARET
o) TARRAGONA. MALAGA. MARSALA. | gurGUNDY | 2 g
5B — — 138
- 2 i > b R |
o g 308 8lseg 3 48533118 p¢

- N o B R

DRY-INCHES. DRY-INCHES, DRY-INCHES. | DRY-INS.
03 | 007 11 1-3 16 |07 08 11 13 16 (08 1'11-4|1-2 14| 0}
13 17 20 24 211 14 1*7 20 241141721118 211
14| -7 22 26 30 |15 1-8 21 26 3:0|172126|23 27 |1}
2:0 26 31 36 |19 21 25 31 3620258127 32 |2
24| 23 30 35 42 |22 24 29 35 42 (24293631 37|23
25 33 39 47 |24 27 82 39 47|27 324034 41| 3
By | 28 37 43 52 | 26 30 85 43 5229354438 45 |33
1 30 40 47 57 |28 832 38 46 57 (313848|41 49| 4
44 | 32 43 50 62 | 30 35 41 50 62|34 4152|444 53|43
34 45 53 66 |31 37 43 53 66 |36 4456 |46 57 |5
b} | 86 48 57 71|33 39 46 57 7-1|384759|49 60| 5%
38 50 60 75 |35 41 48 60 75|39 4962|51 63|86

| muENISH BERANDY

: HOCK. QENEVA RUM. WHISKY. § ¥

= = E
{ o 3 i e B B T A
- 5§ 5|35 2 3§ 3E|E % {2 § % ;O

I3 4|f B gl ig d)] 8

DRY-INCHES, DRY-INCHES. DRY-INCHES. | DRY-INCHES,

08 1-1 1-.3/08 1-1 13 14 16|09 11 13|08 12 1-3 0%
14 17 20(13 16 19 22 2411517 19|16 17 20| 1
18 21 25|17 20 24 28 30)11922 24 | 18 21 26 | 13
21 25 30|20 24 28 833 36| 2825 29|22 25 30| 2
94 29 34|23 28 33 87 4112628 33|25 290 35| 2
7 82 37|25 31 37 42 47|2832 37|27 32 39|38
49 85 41|28 34 40 46 52)3135 4130 35 43| 33
Wl 88 45|30 37 43 50 563488 44 |33 38 46 |4
g4 41 4832 39 47 55 613641 47|35 41 50| 43
B0 43 51| 34 42 50 59 65|38 44 5:0 (37 435356
#8406 54|36 44 53 63 70| 4047 53|89 46 57|51
40 48 57|38 46 56 66 744249 56 |41 48 6016

1ox8,—Take the Bung and Wet-Inches, and deduct the one from
Whier Lo geb the Dry-Inches. Refer to the proper column in the Table
Wing to the description of cask dealt with. » Opposite the Dry-Inches
L ?numl the Gallons-Vacuity, which deducted from the full content
the ullage-quantity in the cask. Thus: 25 Dry-Inches in a Port Pipe
Hons vacwity. 1f, then, the content be 120 gallons, the ullage will
(| or, similarly, if the content be 119, the unllage will be 116. 7o
4 e flows in racking operations : Take the Dry-Inches, and the Table
how much more the cask will hold. Forexample: A Whiskey Hogs-
Bowdng 29 Dry-Inches will take 2% gallons to fill it. [*,* For extended
. bon ' I'armar’s Ullage-Indicator 5 and to facilitate the taking of
Jnohies, use * Farmar’s Vacuity-Rod "]
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L musEum

RAISING. =

[SiMPLE PROPORTION: Use the lines A and B on the rule.]

The strength The -
f the spirit ; The
of the spiri required it
proposed to strength. present
be added. ! of the
: * : 1| quantity .
N stronger
The The of WA
required present spirl
strength. | strength. spirit. required.
|

ExampLE—T have 48 gallons of Gin at 30 w.p. which I want to bring
up to 20 w.p. with spirit at 60 o.p. How much of that stronger spirit shall
- Answer 6 gallons.

I require?

t+ TerRMs STATED:—

160 80
80 70
80 g 10 o 48 s 6
SeTTING ON RULE:
A 10 6 A
_B? it 48 B

Kpy—We set the 1st term to the 9nd; then over the 3rd term

we find the Answer.

ProoF BY THE PEN:— 336 pt gallée
96 H

”

48 gallons @ 30 u.p.
6 . (@ 60 o.p.

54 gallons @ 20 u.p. — 432 e ]
And 4320 < b4 — 80°/,, or 20 U

*+8ee footnat: page BT, NoTE—When spirits have been accidentally over-reduged
careful to ealenlate on the actual and not on the assumed quantity. For instance :
originally had 31 f,allrma of whisky at 5 o.,p. and intended to break it down to 20 U
but that instead of putting in 10 gallons of water, the proper quantity, we put I
gallons or G gallons too much. So on trying the strength we find it to be 30 w.p. 0
musn't suppose that we now have 47 gallons of reduced liguor—that is 31 4-16.  Whil
really have is 46} gallons—the remainder being lost in the contraction (vide pages 20, --‘.
and it is therefore only on 46} gallons that we must base our new calculation.

y



FARMAR'S RULE.,

LOWERING.

[SiMPLE ProPORTION: Use the lines A and B on the rule.]

Therequired | The The
The
stre:gth. present quantity
p present
Thestrength strength. ) of the
of the : * .k quantity
s The weaker
spirit of
proposed to required i spirit
spirit.
be added. strength. required.

ExampPLE.—T have 54'4 gallons of Whiskey at 15 op. which I want to
bring down to 5 op. with spirit at 12 wp. How much of that weaker
Wirit shall I require? Answer 32 gallons.

TERMS STATED:—

105 115
A8 105
17 = 10 o b4-4 : 32

BUTTING ON RULE:—

A 10 32 A

B 17 544 B

Ly, We set the 1st term to the 2nd; then over the 3rd term
flnd the Answer.

P BY THE PeEN:—
fOOF BY THE TENYS4.4 gallons @ 1
320 , @1

864 gallons @ 5op. — 9072
And 9072 « 86-4=—105, or 5 o.p.

5 o.p. = 62:56 pf. galls.
2 u.p. — 28-16 %
5

Hubtract the one from the other. :

xpress all strengths in the pereentage form: thus, ¢ proof” being
uyerproof ™ is 100 plus the o.p. ; * underproof * is 100 minus the w.p.
mple, 10 o.p. wonld be expressed 110 ; 10 u.p. as 90 ; and so on,
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INGREASING.%"'“

[SiMPLE PROPORTION : Use the lines A and B on the rule.)

The value The
of .
the article Ingitioec The The
e value quantity quantity
be added. of
of of the
* ¢ |themixture.| :: .
The " stuff | dearer stufl
required The iy isbe
W‘;:‘B present hand. added.
the mixture. value.

ExaMpLE :—T have 60 gallons of spirit worth 11/6 a gallon. How much
spirit worth 16/3 a gallon must I add to it to produce a mixture

worth 14/- & gallon?
Answer 66'7 gallons.

TERMS STATED :—
16/3 14/
14/- 11/6
2/3 2/6
(or) pence (or) pence
27 3 30 i 60 : 66-7
SETTING ON RULE :—
A 30 667 A
B 27 60 B

Kuy.—We set the 1st term to the 2nd; then over the 3rd term
find the Answer.
ProoF BY THE PeN:—
60 gallons @ 11/6 = 690 shillings
667 . @ 16/3 = 1084 W

126-7 1774
Then 1774 < 126:7 = 14/- avery

3F Subtract the one from the other.




FARMAR'S RULE.

LESSENING.

[SIMPLE PROPORTION: Use the lines A and B on the rule.]

]
I'he required The |
The The
value of the present
mixture. Vi quantity quantity
of of the
* . & .
stuff cheaper stuff]
The value
I the article The required in 0 be
proposed to value of hend. added.
be added. the mixture.

ExampLe.—I have 60 gallons of spirit worth 16/3 a gallon. How much
pirib worth 11/6 a gallon must I add to it to produce a mixture
urth 14/. a gallon ?

Answer 54 gallons.
TERMS STATED:—
14/- 16/3
11/6 14/-
2/6 /3
{or) pence {or) pence
30 : 27 iR 60 z 54
HuTTING ON RuLe:—
A 27 54 A
B 30 60 B

v We set the 1st
Hewer,
Proor By PeEN:i—
? THE TENT60 gallons @ 16/3 = 975 shillings
58, 11/6 = 621
114 1596
Then 1596 < 114 = 14/ average

term to the 2nd; then over the 8rd term we find

fract the one from the other.
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Customs Warehouses, *(E)” Exzcise.
under Bond, in the penalty of the Duty involved, from any one Do
Warehouse to another between any of the places here mentioned.
may be obtained on application at any Custom House or Inland Jiep

Office : or Official List (bo

und) be purchased, price 6d.

Wines and Spirits may be 7eM8

60 FARMAR'S RULE sunenul.:*
3§ 3 — =
MUSEUM
V2
LIST OF BONDING TOWNS.
Aberdeen  (C)| Cardiff (C)| Goole ()| Market  Harbor-| Sligo (E)
Abergavenny (E) Cardigan (Ey| Grangemonth (C)| ough (E)| Southampton
Allendale (E}| Carlisle (E)| Granton (C) | Markinch (E)|8tockton-on-Tees
Arbroath (E)| Carparvon (C)|Gravesend  ( E)|Maryport (C)1 (E)
Ardrossan (C)| Carrick-on-Buir(E)| Greenock (C)| MerthyrTydvil (E) Stonehaven B!
Armagh (E)| Carron (E)| Grimsby (C)| Middlesboro' | C)| Stourbridge (B
Ashford (E}| Castle Eden (E)|Halifax ()| Monasterevan (E)|Stowmarket (5,
Aughpacloy (E)! Chard (E)| Hanley (Stafis)(E)| Montrose tE;ISt.mhana (B
Ayr (C) | Chester (E)| Hartlepool, West | Morpeth (E)| Sunderland (C&I)
Ballina (E)| Clonmel (E) (C) | Newcastle (C&E}iswanssa )
Ballymena 1\ E) Colchester (C)| Harwich (C)| Newhaven (C) 8windon, Old
L Ballymoney (E) Coleraine (E)| Hereford (E) | Newport, Mon {Lj Taunton {
Banbury (1) | Cookstown (E)| Hertford (E)| New Ross (E}|Teigumout11 (
Bandon (E |Cork (C & E)| Highbridge  (E)| Newry Tiverton |
‘Barnstaple (E)| Cowes (C)| Hull (0)| Newton Abbot 1'.; Tralee (
Barrow (C) | Darlington (E) | Inverness ()| Northampton (E)| Trowbridge
Bath (E) | Deptiord (E) | Ipswich (E}| Norwich (E)| Truro
Bathgate (E)| Derby ( E)| Keighley (E)| Nottingham  (E) Tuam
Belfast (C&E)|Devizes (E)| Kelso ()| Omagh Tullamore
Berwick (C)| Dorchester (B)| Kendal (E)| Paisley (E)| Wadebridge
| Bideford ()| Douglas, 'M  (C)| Kilkenny , (E)|Penzance th}i Warrington
Birmingham (L&) Dover (0)| Kilmarnock  (E)| erth .hj Waterford |
Blackburn (E)| Drogheda (E)| Kinsdale (E)| Plymouth LCJ Weston-super=
Blandford ()| Dublin (C & E)| Kirkealdy (C & E)| Poole J..j| Mare
Blyth (€)| Dudley (E)| Lancaster ()| Port Giasgow lL!I Westport
Bolton (B)| Dumfries (E)| Larne E |Portsmouth  (C)| Wexford
Bo’ness (€)) Dundalk {E)| Leeds E)| Preston (Lll Weymonth
Boston (C) Dungannon  (E)| Leicester \E)| Queensferry, 5. (E)| Whithy
Bradford (% | Dundee (C)|Leith (€ & E)| Ramsgate (C)| W hitehaven
Brecon [L} Dunfermline (E)| Lerwick (E)| Beading (B) Wiek
Bridgwater  (E) Durham (E)| Limerick (C & Ej| Bedruth tE} Wigan
Bridport (E) Edinburgh (E}|Liverpool (C & E)| Reigate li'.r),wmdmr
Brighton (LJ Elgin (E)| Llanelly (C)| Ripon (8] Wolverhamphal
Bristol {CJl Enniskillin -~ (E)| London  (C & E)| Rochester (©)| Woodbridge
Burnley (E)| Exeter (C)| Londonderry  (C)| R n (B)| Worcester
Burton-on-Trent |Falmouth ()| Longford (E)|St. Austell |E)| Workington
(E)| Folkestone  (C)| Louth (E)| Scarborough (B | Wrexham
Bury 8t. Edmunds Galway (E)| Lowestoft |E)| Selby B} Yarmouth
(E) Gateshead (E)| Lynn (C)| Sheffield (B)| York
Cambridge (1) Glasgow (C & E)| Maidstone (E)| Shields, N,  (C)| Youghal
Cambeltown ()| Gloucest {C)| Manchester (C&E)| Shields, 8. ©
|
% d.e. Places where Bonding Warehouses are situated. ** (C)" den

Addre




FARMAR'S RULE.

! E' e

MUSEUM

TABLES OF EXCHANGE%,,

SHOWING THE AMOUNT OF FOREIGN MONEY THAT
SHOULD BE PAID FOR ENGLISH MONEY.

Belgium, France Denmark,
Bulgaria, snd Iceland
(Chili, Congo| Algeria, Nether- and Portugal, TUnited
English | Free Stats, | Loxem- lands and | Danish Azores, States,
Money. Italy, burg, Germany.| Duteh West and Egypt. Canada,
Balvador, Roumania, East Indles, Madelra. and
ervia, |Tunis, and Indies. Norway Hawail.
Switzerland| Anstrin. an
Urnguay. Sweden.
o o=
2 a8 gld | 4 ] 3 =2 AlE 4
g g 3 i 5| B 8 4 &8 = | & %
.o 6 8| & 8| 4 8|5 8)5 8| & B9 |2 8
0 1 0 10| 0 10/ O 08| 0 05| 0 07 10/ 0 004{ 0 02
0 20 0 20| 0 21 0 17 0 10/ 0 15 5010 008 0 04
0 3 0 8| 0 381 0 25 0 15| 0 22 50| 0 012 0 06
0 4 0 40| 0 42| 0 34 0, 20| 0 30 7010 016/ 0 08
0 5/ 0 50| 0 52| 0O 42| 0 25| 0 37 90| 0 02000 10
0O 6 0 60| 0 63| 0O 51| 0 30| 0 45 110| 0 024/ 0 12
0 7 0 70 0 73] O 59 0 35 0 52 180 0 028/ 0 14
0 8 0 8| 0 84 O 68/ 0 40, 0 60 150| 0 082/ 0 16
0 9 0 90| 0 94/ O 76| 0 45| 0 68 170 | 0 036{ 0 18
0100 1 00| 1 05/ O 85 0 50 0 75 190 | 0 040/ 0 20
011 1 10| 1 15| 0 93| 0 55| 0 83 200 0 044/ 0 22
L 0o 1 20| 1 2| 1 02/ 0 60, 0 90 220 0 048 0 24
2 0 2 60| 2 H52) 2 04 1 20, 1 81 450 | 0 097 0 49
5 0 8 70| 8 78/ 3 06/ 1 81| 2 72 680 0 146/ 0 73
4 0 5 00| 5 04| 4 08| 2 41| 3 62 910( 0 195 0 97
O 0 6 80| 6 30/ & 10| 3 02 4 53| 1,140| 0 243/ 1 22
6 0 7 50| 7 56/ 6 12| 3 62| 5 43| 1,870| 0 292| 1 46
7 0 8 80| 8 82| 7 14/ 4 22| 6 35| 1,590| 0 341|1 71
8 010 00|10 08| 8 16| 4 83| 7 25| 1,820 0 390/ 1 95
011 80|11 34/ 9 18| 5 43| 8 15 2,050|0 438 2 19
012 60|12 60/ 10 20| 6 04| 9 06| 2,280 | 0 487 2 44
013 80|18 86|11 22| 6 64| 9 96| 2,510| 0 536/ 2 68
015 10|15 12|13 24| 7 24| 10 87| 2,740| 0 585/ 2 92
016 30|16 38|13 26| 7 83| 1L 77| 2,970) 0 633|383 17
0 17 60 |17 64| 14 28] 8 45(12 68| 8,190| 0 682 3 41
018 90|18 90| 15 30| 9 06138 59| 3,420 0 731|838 65
020 10|20 16/ 16 32| 9 66|14 49 3,650| 0 780/ 3 90
0 21 40 | 21 42| 17 34| 10 26| 15 41| 8,880 | 0 828 4 14
0 22 60|22 68|18 36| 10 87|16 81| 4,110| 0 877/ 4 38
0] 23 90 | 23 94| 19 88| 11 47| 17 21| 4,340 | 0 926/ 4 63
- 0 0[ 25 20|25 20(20 40/ 12 08| 18 12| 4,570| 0 975 4 87
0 0 50 40 | 50 40| 40 80| 24 16|86 24| 9,140| 1 950/ 9 74
0 075 60|75 60| 61 20| 36 24| 54 36|13,710| 2 92514 61
0 0100 80 [100 80| 81 60| 48 82| 72 48|18,280( 3 900(19 48
0 0]126 00 126 00/102 00| 60 40| 90 60|22,850| 4 87524 35
0 0151 20 |[151 20]122 40| 72 48/108 72|27,420| 5 850/20 22
0 0/176 40 [L76 40(142 80| 84 56(126 84]31,990 | 6 82534 09
U 0[201 60 201 60[163 20| 96 64|144 96| 36,560 | 7 80038 96
g 0226 80 (226 80(183 60(108 72|163 08| 41,130| 8 77543 83
0]2562 00 |252 00|204 00{120 80|181 20| 45,700 | 9 750/48 70
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FARMAR'S RULE.

/fsLiDE RULES
|

SHOWING THE AMOUNT OF ENGLISH MONEY THAT

Q’" \‘:‘;’é

TABLES OF EXCHANGE.

SHOULD BE PAID FOR FOREIGN MONEY.

Franee and
Algeria,
Belgtum it el B lvadar,|  @Germany it English
O Hiate, and Servia. funis, 4 East India. Money.
Roumanin, and
Austria.
Francs. Cents, | Franes. Cente. | Franes, Cents. | Marks, Pien. |Florins. Cents. & 8 d
0 11 0 11 0 11 0 09 0 06 0 01
0 21 0 22 0 21 0 18 0 11 0 0 2
0 32 o 32 0 32 0 26 0 16 0 0 3
0 42 0 43 0 42 0 385 0 21 0 0 4
0 53 0 53 0 53 0 43 0 26 0 0 5
0 63 0 64 0 63 0 52 0 3l 0 0 6
0 74 0 T4 0 74 0 60 0 36 0 0 7
0 84 0 85 0 84 0 69 0 41 0 0 8
0 @95 0 95 0 95 0 77 Q 46 0 0 9
1 05 1 06 1 05 0 86 0 &1 0 010
1IN0 1 16 1 16 0 94 0 56 0 011
1 92 | 1 27 1 26 I 03 0 61 i L)
2 68 | 2 53 2 52 2 05 1 21 0 2 0
a8 | iy 3 80 3 78 3 07 1 82 0 3 03
5 05 5 06 5 04 4 09 2 42 0 4 0
6 31 6 33 6 380 5 12 3 03 0 5 0
7 58 7 &9 7 &6 6 14 5 63 0 6 0
8 84 8 86 8 82 7 16 4 24 07 0
10 1o 10 12 10 08 8 18 4 B4 0 8 0
11 36 | 11 39 11 384 9 21 5 45 0 9
12 63 12 65 12 60 10 23 6 05 0 0
13 8 | 13 92 | 13 8 | 11 25 | 6 66 [ 011 0
15 15 15 18 15 12 12 27 7 26 0 0
16 41 16 45 16 38 13 30 7 87 0 0
17 68 17 711 17 64 14 32 8 47 0
18 94 18 98 18 90 15 384 9 08 0
20 20 20 24 20 16 16 36 9 68 0
21 46 21 61 21 42 17 39 10 29 0
22 T8 22 77 22 68 18 41 10 89 0
23 99 24 04 28 94 19 43 11 50 0
25 25 25 80 25 20 20 45 12 10 1
50 50 50 60 50 40 40 90 24 20 2
126 25 |[126 50 |126 00 |1l02 25 60 50 5
151 60 |151 80 |161 20 122 70 72 60 6
202 00 |202 40 |201 60 |168 60 96 80 8
252 50 | 953 00 | 252 00 |204 50 121 00 10




FARMAR'S RULE. .ﬂﬂ.n‘mnuu. 63
X B .&g
Denmark Danish Horway I’oﬁ:ﬂ, Unit, & Honglish
Io:l'::ll:d. I‘:d.r:n. Bw‘&tn‘ M:g:m_ Ry and Hawaii | Money.
Pounds  Mil.
lironer, Ore. | Kroner, Ore. | Xroner. Ore. Bels. oypsian. liémes|Dollars, Cents.| £ 8 d.
0 08 0 07 0 08 20 1] 004 [} 0210 0 1
0 16 0 15 0 16 40 0 008 0 0410 0 2
0 23 0 22 0 23 60 0 012 0 060 0 3
0 81 0 30 0 31 80 0 016 0 08 |0 0 4
0 a8 0 87 0 38 100 0 020 0 1010 0 5
0 46 0 45 0 46 120 0 024 0 12 |0 0 6
0 b4 0 52 0 53 140 0 028 (¥} 1410 0 7
1] 0 60 0 61 160 0 032 0 160 0 8
0 68 0 43 180 0 036 0 18|/0 0 9
0 75 0 76 200 0 040 0 200 010
0 83 0 B84 210 0 044 | 0 22 (0 011
0 90 0 9 230 0 048 0 24 (0 1 O
1 81 1 82 460 0 097 0 4910 2 0
| & 173 2 T2 690 0 146 0 7310 8 0
| 8 63 3 63 920 0 195 0 97 |0 4 0
4 b3 4 53 1,150 0 243 1 22|10 & O
5 44 5 45 1,380 0 292 1 4610 6 0
6 35 6 35 1,600 0 341 1 7110 7 O
7 26 T 25 1,830 0 390 1 95 |0 8 0
8 16 8 16 2,060 0 438 2 190 9 0
| 9 07 9 06 2,290 0 487 2 44 | 010 O
| 9 98 9 97 | 2520 0 53| 2 g8(011 O
| 10 89 10 88 2,750 0 585 2 92 1012 ©
11 79 11 78 2,980 0 633 3 17013 O
| 12 70 12 69 3,200 0 682 3 41 (014 0
| 13 61 13 59 3,430 0 731 3 651015 0
| 14 b2 14 50 8,660 0 780 3 90 |0 16 0
15 42 15 41 3,800 | 0 8238 4 14 | 017 0
16 33 16 31 4,120 0 877 4 88| 018 O
17 24 7 22 4,350 0 926 4 633|019 0
18 15 18 12 4,570 0 976 4 a741 0 0
36 30 30 24 9,140 1 950 9 7412 0 0
90 -75 90 60 22,850 4 875 | 24 35|5 0 0
| 108 90 108 72 27,420 b 850 | 29 22 |6 0 0O
/145 20 144 96 [36,560 | 7 80038 6|8 0 0
| 181 60 181 20 |45,700 9 750 | 48 70 /10 0 0

“\" Imperial System of Weights and Measures :—Antigua, Barbadoes,
Wi, British Guiana, British Honduras, Canada, Cape of Good
, Unylon, Cyprus, Dominica, Fiji, Great Britain, Grenada, Hong
Juimnicn, Malta, Natal, Nevis, New Brunswick, New South
, Now Zenland, Nova Scotia, Queensland, Sierra Leone, Ringapore,
Aunbralin, St. Christopher, 8t. Helena, 8t Vincent, Tobago, Trinidad,
vor's Island, Victoria, and Western Australia.

fiie Syatem:—Algiers, Argentine Republic, Austria, Brazil, Belgium,

Chili, France, Germany, Greece, Holland, Italy, Mexico,
, DPortugal, Roumania, Servia, Spain, Sweden, Switzerland,
nnd Yenezoela.
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“FARMAR'S Spirit-Rule,” |« FARMAR'S Publicans’ Rule.” '
The Btandard for the Wina & Spirit Trade. The Standard for the Licensed Trade.

[*,* For Wine and Spirit Merchants, % i
e R R R e
ottlers, rokers, aluers, - &
Gaugers, and Stooktakers]] Gaungers, and Stocktakers.]

WITH GUIDE-BOOK, COMPLETE.
Desk Size, 30/'- | Pocket Size 21/- Pocket Size = = .« 15/«

WirH GUipeE Boog, COMPLETE.

ACCESSORIES.

Farmar's Dip-Rod.— Specially recommended for use
with Farmar’s Rules. Portable. In ecloth case,
complefe, 10/6 net.

Farmar's Ullage-Indicator-A concise ready-reckoner of
ullages for lying casks. 1/6net.

Farmar's Vacuity-Rod.— For use on racking floors, 2/- net.

Farmar's Testing Outfit. —Consisting of Sikes’ hydro-
meter,in silk-lined mahogany case,with thermometer,
test-tube, and book of tables, complete. 1} to 4 guineas.

F. C. FARMAR & SON, Hype Roap. WaTeErLOO, LIVERPOOL,

v

School of Ganging.

INSTITUTED 1904,

rrERS excepbional advantages to all who
0 desire Private Instruction in any of
the following
Suljects :—
GAUGING, STOCKTAKING, KEEPING ACCOUNTS,
VALUING, HEDUCING.LE'_STTNG‘ USE OF RULES, &c.

Private Classes. Pupils_ﬂslterl. Taition by
Correspondence.

;== Instruction in the English, American, and
Continental Systems.

o Jeti

Cer of Profici B d on I of Conrse.

For terms, &o., apply ta- the Pringipal ¢
F. C. FARMAR, H.M.C.B.,

E 0 \ 15, Hyde Road, Waterloo, Liverpool. /
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FARMAR'S RULE

PROOFING.

DIRECT METHOD. —Set
Strength on BB to *Proof”

SETTING oN RULE:—

AA; then under the ullage on A
will appear the Proof-quantity on B.

Gallons, op. Proof.
EXAMPLE (a). 380 @ 5:0 = 39:9

AA Proof

38 A

BB 5 op.

399 B

INDIRECT METHOD.—Set the
strength on B to 10 on line A ; then
under the ullage will appear the
quantity to add or deduct, according
as the spirit is o.p. or w.p.

Gallons. o.p. Proof.
EXAMPLE (a) 380 @ 50 = 399
SETTING ON RULE:—

A 38 10 A
B 19 5 B

proof-quantity.

Kex.—We set 5 o.p. to ““ Proof ”;
then under 38 we find 89-9, the

Gallons,

SETTING ON RuULE:—

wp. Proof
EXAMPLE (V). 562 (@ 12:0=49+4

AA Proof

56-2 A

BB 12 u.p.

494 B

proof-quantity.

Kry —We set 12 u.p. to* Proof ;
then under 56°2 we find 494, the

Kry.—We set 5 to 10 ; then under
38 we find 19, the required addition
to the ullage to make the Proof.

Gallons. wp. Proof.
ExampLE (b) 562 @ 120 = 49-4

SETTING OoN RuLe:—
~A 562
‘B 68

10 A
12 B

Kev.—We set 12 to 10; then
under 56-2 we find 6-8, the required
deduction from the ullage fo make
the Proof.

EXERCISES.

Ullage. Strength, Proof.
286 145 0.p. 327
34-8 9-4 u.p. 315
596 172 o.p. 69-8
596 17-2 u.p. 49-3

1085 56 o.p. 1145

tndirect for Duty purposes.

NOTE.—~The direct method is recommended for Stocktaking purposes ;
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A}

SELLING. -t

PROFIT. DISCOUNT.

Set the cost-price on | to * Par ” on
K; then overthe desired gain per cent

will appear the selling-price.

Set the nominal selling price on |
to *“Par” on K; then over the
stipulated rate of discount will
appear the net selling-price.

ExXaMPLE (a)—Bought at 3/1 a
gallon, and desire to make 15 0,
profit. What musi be the selling-
price ?
Answer 3/6}

SeTTiNG ON RULE:—

ExampPLE (a).—I sell at 18/5 a
gallon, subject to 59/, discount.
What do I net?

Answer 17/6.

SETTING oN RULE:—

1 31 3/6% | 1 17/6 18/5 |
I K Par Profit 15 97, K K 59/, Discount. Par, K
Kev—We set 3/1 to ‘ Par” Key.—We set 18/5 to “Par?;

then over 159/, profit is found 3/63,
the selling-price.

then over 5°/, Discount is found
17/6, the net price.

ExaMpLE (b).—I buy at 3/l a
gallon, and sell at 3/63. What do I

gain per cent ?
Answer 15 9/,

SeETTING ON RuLE:—

ExampLE (J).—I sell nominally
at 18/5 a gallon, but net only 17/6.
‘What rate of discount is that?

Answer 5%,

SETTING ON RULE :—

1 31 3/63 |

I 1776 185 1

_‘.K Par Profit 150/, K

K 59/, Discount.  Par. K

Kry.—We set 3/1 to “Par”;
then under 3/6} is found 159/,
Profit.

Kex.—We set 18/56 to “Par”j
then under 17/6 is found 59/,
Discount.

EXERCISES.

EXERCISES.

Cost | Desired I Seliing Nominal Rate of I Nek
Prica, Profit. Price. Belling-price. Discount. Selling:

4/6 259/, 5/73 5/9 100/, 5/9%
17/2 159/, 19/9 19/- 63°/, 17/0
16/6 400/, 23/1 21/6 59/, 20/5




FARMAR S RULE.
SELLING.

PROFIT ano DISCOUNT
COMBINED.

Set the cpst-price on | to the rate
af discount on K; then over the
required gain per cent. will appear
the nominal selling.price.

EXAMPLE (a).—A spirit costs me
18/~ a gallon. What price should I
ask for it, so that I may be enabled
to make 16 9/, Profit, and yet allow
5%/, Discount ? Answer 22/-.

SETTING ON RuLE:—
| 18/~

22/- 1

K 5%/, Discount Profit 169/, K

Kev.—We set 18/- to 59/, Dis-
count; then over 16°/, Profit we
find 22/, the asking price.

EXaMPLE (b).—A spirit costs me
18/~ a gallon, and I ask 22/~ for it,
nibject to a discount of 5%9. What
profit do I make myself ?

Answer 18°/,.

SETTING ON RULE:—

I 18/- 29/ |

K 5%, Discount Profit 16°/, K

Key.—We set 18/- to 5%/, Dis-
sounb  then under 22/- we find
0"/, the net profit,

EXERCISES.

Dont Expeacted | Dizconnt to, Asking
1'rlow, Yrofit. | Costomer Price,

b/~ | 80%% [ 239, | 6
16/~ 250, | 64°, | 2011
176 | 200, | 59, | a9

PROFIT ON THE RETURN. !
EXPLANATION:~Say a spirit costs
me 4/- a gallon, and I sell at 5[-.
Then I make 25°/, on the 4/~ or 2095
on the 5/-. The one is called the
“Profit on the Cost,” the other the

‘ Profit on the Return.”

Set the cost price on | to « Par »
on KK; Ithen under the selling-
price will appear the profit on the

return.

EXAMPLE &

I buy at 4/- a gallon and sell at
5/~ What do I malke on the return ?

Answer 209/,

SETTING ON RULE:—

I 4)- 5/- 1

KK Par Profit 200/, KK

ExXPLANATION.

We set 4/-, the cost-price to

“Par” on line KK; then under
5/. the selling-price, we find 20 a9,

the profit on the return.
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BLENDING.

MeTHOD :—Arrange the given Strengths or Prices in
any stated order.
average required, and take the lesser from
the greater in each pair.

of the mizture will then appear in REVERSE

order.

Insert under each the

The proportions

EXAMPLE (a)—In what pro-
portions should I blend two spirits,
at 14 o.p. and 4 o.p. respectively,
to make-up 20 gallons at 8 o.p.?

Answer 8 and 12 galions
respectively.

—_—

STRENGTHS STATED:—

114 104
108 108
6 + 4 = 10

Then (reading from right to left) :—

GALLONS.
fof20gallons = 8 @ ldop.
gyof20 =12 @ 4op

SETTING ON RULE:—

A4 8 A
1st result B 10 0B
ond result | A 6 12 A |

B 10 20 B

J
ProOF BY THE PEN:—
PL. Galls.
8 galls. @ 14 op. = 912

132 .
20 , @ 8op =-_21'60

@ 4 op. = 1248

ExampLE (b). — In what pro
portions should I blend three spirits,
at 14 o.p., 4 o.p. and 4 u.p. respec-

tively, to make up 20 gallons
at 8 o.p.?
Answer—
11 galls. 3} pts.
4 galls. 2} pts. | respectively.

4 galls. 21 pts.

STRENGTHS STATED:—
* (114 114) 104 96

108 108 108 108

6 + 6 + (44 12)=28
Then (reading from right to left):

38 of 20 gals.—11-43 (or 1183) @ 14 0.ps

#50f20 , = 428(. 42})@ 4o.p.

250f20 , — 429(, 42}) @ 4up.
SETTING ON RuLE:—

A6 11443 A

B 28 20 B_|
(The other results are found in

like manner.) '
ProoF BY THE PEN:—

1st result

PL. G
11-43 galls. @ 14 o.p. = 1304
428 , @ 4op = 440
420 , @ 4up =

2000 , @ 8op. = 2L
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EXAMPLE (¢).—In what propor-
tions should I blend four spirits,
at 2 o.p., Proof, 10 o.p. and 6 o.p.
respectively, to make up 28 gallons
at40.p.?

Answer 4,12, 8, & 2 gallons

respectively.

STRENGTHS STATED:—

102 100 110 106
104 104 104 104

2 + 4 4+ 6 + 2=14
Then (reading from right to left) :—

GALLONS.
pof 28 gallons = 4 @ 2o.p.
Jeof28 =12 @ Proof
frof 28 = 8 @ 100.p.
“eof28 = 4 @ 6o.p.
SeETTING ON RULE:—
A 2 4 A
1st result B 14 98 B
(The other results are found in like
manner. )
Proor BY THE PEN:— S
4 galls. @ 2 o.p. = 408

12, @ Proof = 12:00
8 ., @10 o0p = 880
4 , @ 6op = 424
28 , @ 4 op. = 2912

EXAMPLE (d).——Iﬁ" v‘v‘hat proper-
tions should I blend five spirits, at
Proof,4 0.p., 14 0.p.,4 u.p and 100.p.
respectively, to make up 34 gallons
at 8 o.p. ?

Answer2,2,12,6 & 12 gallons
respectively.

STRENGTHS STATED:—
100 104 114 96 (110 110)*
108 108 108 108 108 108

8+ 4 +6+12 4+ 2  2=34
Then (reading from right to left) :—

GALLONS.
# of 34 gallons — 2 (@ Proof
& of 34 . = 2 @ 4o.p.
12 of 34 . =12 @ l4op.
Jrof3 , = 6 @4up
13of 8¢ , =12 @ 100.p.
ProoF BY THE PEN:—@
Pf. Galls

2 gallons (@ Proof — 2:00

2 . @ 4op — 208
12 ., (@ 14 op. — 1368
6 . @ 4up = 576
12 + (@ 10 o.p. = 13-20
34 galls. @ B8o.p. = 36:72

NOTES.

HMow To Fix THE AVERAGE STRENGTH.—Arrange the given sfrengths,
rming the mixture, in progressive order, and separate them into two equal
oups. The limits will lie between the two centre strengths. TFor instance,
o Example (c) above. Here we have four spirits whose strengths are,
uof, 2 0.p.—6 o.p., 10 op. The average strength lies between 2 o p.
il 6 o.p.

* Observe that there must be an EVEN number of strengths. If, therefore, an
number is stated. one of them must be REPEATED, Vide examples (b) and (d).



72

BLENDING.—Continued.

Mernon :—Arrange the given Prices in any stated
Insert under each the average
required, and take the lesser from the
greater in each pair.
the mizture will then appear in REVERSE

order.

arder.

The proportions of

ExaMpLE (¢).—In what pro-
portions should I blend two spirits,
worth respectively 3/- and 3/8 a
gallon, to produce a mixture worth
3/3 a gallon ?

Answer: In the propor-
tions of 5 and 3.

PRICES STATED:—

3)- 3/8
3/3 3/3
I

Key.—The proportions (reading
from right to left) stand thus:—

To every 5 gallons of the 3/- spirit
add 3 . 5 i A

ProoF BY THE PEN:—
Shillings
5galls @ 8)- = 15
3, ®@38=11

8 26
Then 26 < 8 = 3/3 average.

ExaMmpPLE (f).—In what propor-
tions should I blend three wines,
worth respectively 4/-, 6/-, and 8/- a
gallon, to produce a mixture worth
7/- & gallon ?

, Answer: In the propor-
tions of 1, 1 and ‘4
respectively.

PRICES STATED:—

4/ 6/- (8/ 8-
7l - 7/- /-
& O : 1 o: B

Key —The proportions (reading
from righ to left) stand thus:—

To every 1 gallon of the 4/- wing

ﬂdd 1 » ” Gf'l' L&

and 4 - » BI- .

PROOF BY THE PEN:—

R
1gall. @4/ —
1 . @6- =
4 . @8- =
6

Then 42 < 6 = 7/- ayer
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Examrie (g).—In what propor-
tions should I blend four wines,
worth respectively 4/-, 6/-, 8/- and
9/- a gallon, to make up 28 gallons
worth 7/- a gallon ?

Answer: In the propor-
tions of 8,4, 4, and 12

respectively.
Prices STaTED:—
4/- 6/- 8/~ 9/-
7/- 7/- 7/- /-

G S A S e B
Then (reading from right to left) :—

Gallons,
gof 28gallons = § @ 4/-
tof28 = 4 @ g/
tof28 = 4 @ g
#of 28 = 12 @ 9/-
SeTTING ON RuLE:-
A 2 8 A
It result; b—————— |
B 7 28 B

[The other results are found in

) Ju—_g
ExaMpLE (h).—In what propor-
tions should I blend six spirits,
worth respectively 4/-, 3/-, 3/6, 4/6,
5/6 and 5/- a gallon, to produce
mixture worth 4/3 a gallon ?

Answer: In the propor-
tions of 9, 15, 3, 9, 15,
and 3 respectively.

Prices STATED:—
4/- 38/- 36 4/6 5/6 b5/-
413 4/3 4/3 43 4/3 4/3

=8 :1/3:-9:-/3:1/8:-9
or, expressed in pence:—
g 15l 8 st g

Key.—The proportions (reading
from right to left) stand thus :—

Bhillings

like manner.] To every 9 galls of the 4/- spirit— 36

ProoF BY THE Pen:— : add 15 s 8- , =45
Bgallons @ 4/- = 33 3 .  B/6 . =10%

i . @ 6- = o4 9, 46 , —404

4 , @ §- = g2 15 « 56 . =82}

12 , @ 9/~ = 108 and 3 v 8- =15

28 196 54 2294
And 196 = 28 = 7/- average. Then 229 < 54 — 4/3 average.

NOTES.
How 1o Fix

Lo mixture, in progressive order, and

THE AVERAGE Pmc:n.—-Armnge the given prices,
separate them into two equal groups.
o centre prices. For instance, take
lixample (k) above. Here we have six

~4/6, 5/-, 5/6. The average price lies between 4/- and 4/6. Any odd
fnount can be fixed upon within these limits.

ho limits will lie between the tw

spirits whose values are 3/-, 3/6, 4/.

¥ Observe that there must be an EVEN number of prices. If, therefore, an
I uwmber is stated, one of them must be REPEATED.  Vide example ()
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AVERAGING STRENGTHS OF“&¢tNDSs.

Mernon.—Multiply each separate quantity by its own strength,
and divide the sum of the results by the total quantity.

ExAMPLE 1.—What is the average ExampPLE 2.— What is the average
strength of the following blend of strength of the following blend of
spirits : — wines i—

154-4 gallons @ 92 o.p. 56 gallons @ 36 degrees.

26-2 o P 5T o 110 w0 S8 "

108-2 “ + Proof. 24 % v B8 ”

746 , , 46 uwp. | Answer 37°

Answer 3:1 o.p.

(Y

tt STRENGTHS :— S HTSENGTTE
154-4 x 1092 = 16860 { 56 x 36° = 20°16 x 100 = 2016
262 x 1025 = 2680 110 x 38° = 41-80 x 100 = 4180 °
1082 x 1000 = 10820 24 x 33°= 792 x 100 = 792
746 x 954 = 7110 — —_
1 88
3634 37470 %0 -
Then 37470 - 3634 = 1031, or Then 6988 < 190 = 367, or
3'1 o.p. 37 degrees.
SETTING ON RuLE:— SETTING ON RuULE:—
A 1031 100 A A 367 100 A
"B 8747 3634 B B 6988 190 B

11 Express all strengths in the percentage form: thus,  proof ” bein
100, ““overproof ” is 100 plus the o.p.; * underproof * is 100 minus the u.
For example, 10 o.p. wonld be expressed 1103 10 w.p. as 90 ; and so on.

t These results may be obtained by the Rule if desired—being mon
the proof quantities multiplied by 100. (See page 28.)

** The expression * Degrees’ literally means ¢ Proof-per-Clen
Thus, “ 386 degrees” means that 36 proof-gallons are contained in eve
100 gallons of the wine,

[*#:* For Averaging Values of Blends, see page 53).

\
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What is the average Obscur-
ation* of the following Blend ?

Gallons, Obg,
362 26
124-6 14
42 7 Nil
24-6 1-8
Answer, 1'3.
METHOD—
362 x 26 = 94-12
1246 x 14 — 174-44
427 x 000 = 000
240 x 1'8 = 44-28
228-1 312-84

Then 81284 < 2281 — 1-8,

# ¢ Obscuration ” means the
nmount  of strength hidden or
obscured in @ spirit, by reason of
the presence of sweetening or other
matbter, which interferes with the
vorrect action of the hydrometer.
Ho that a spirit containing obscu-
lation is really stronger than what
Iho hydrometer registers. This
ildition to the apparent strength of
Itums  and Brandies is aofficially
icertained by distilling a sample of
o spirit, and taking the difference
bobween the strengths before and

lor—the same being moted on the
Pormit. When the obscuration is
liled to the hydrometer strengtl
o et the detual strength. Thus :—

Ulyd. Str. Obs. Act. Str.
62 o.p. + 26 = 378 op.
#65 op. + 14 = 39 op.
OBup. + 14 = 046 op.
B up. + 18 = 170 up'

AVERAGING STRENGTHS.——Comiﬂm%." -

*.* Obscuration is in mno way
affected by the breaking-down with
water. Thus, a Rum containing
21 8/, obscuration before reducing,
contains the same 2-1 9/, afterwards.
The figures merely represent a per-
centage of the proof-strength, and
not of the weight or bulk of the
spirit. Traders, therefore, are quite
safe in reducing their Rums and
Brandies to an extent below the
hydrometer strength equal to the
For

example: To reduce a Brandy con-

percentage of obscuration.

taining 8 9/, of obscuration to 22
u.p., water should beadded sufficient
to make the hydrometer register
25 u.p.

The Retailer especially should
note this, and remember that Duty
has to be paid as much on the
obscured strength as on the hydro-
meter strength. If, therefore, he
adds the obscuration shown on his
permit to the ascertained hydro-
meter strength, he will probably find
his Invoice correct. If, however,
he wants a certain hydrometer
strength, he shounld so specifically

order.
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PROPORTIONING SPIRIT ANM=V{ ATER.

Nore.—Owing

when  spirits and water combine.

increased quantity Jof water is required—the calculation of which must be
based on the specific gravity system.
The total water thus shown is absolutely
(See page 20).

and the quantity right.

to chemical action, a Contraction in Bulk takes place

To meet this *¢ Contraction,” an

This the rule does automatically.
needed to make both the strength

TO PROPORTION THE SPIRIT.

Set the required strength on BB
to the present strength on AA; then
under the total required bulk on A
will appear the proportion of spirit
required.

TO PROPORTION THE WATER.

Set the sum® of the two strengths
on H to the required strength in
section No. 1. Then under the
quantity of spirit will appear the
true water required—allowing for
contraction in bulk.

EXAMPLE (a).—How much spirit
ab 20 o.p. is required to make up
4 gallons at 15 u.p.?

Answer 2'83
[or, 2 galls. 6 pints, 24 quarterns.]
See page 19.

SETTING ON RULE :—

Referring to EXAMPLE (a) opposite :—

ExampPLE (a).—Having 2-83 spiril i
@ 20 o.p., find the balance of
water required to make up 4 gallong
@ 15 w.p.—allowing for contraction
in bulk.

Answer 121
[or, 1 gall. 1 pint, 24 quarterns].
See page 19.

SETTING ON RuLE:—

T AA 20 0.p. Bulk 4 A Section No. 1 sitg, i
G T’ Spirit 2-88 G

BB 15 u.p. Spirit 2-83 B H 35 Water 121 H |
Kev.— We set 15 u.p. to 20 o.p.; Kev. 20+15=385. We therefos

then under 4 gallons we find 283,
the proportion of spirit required.

[Page 19 tells us that ‘83—6 pints
2} quarterns).

set 35 to 15 u.p. in section No.‘j
then under 2:83 we find 1-21,
true water required,

[The ¢ Contraction * l'.hara"

= 1 quartern.)

® Bet the difference instead of the sum when reducing from w.p. I

further degree u.p. See page 21.
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ExampLE .(b).—How much spirit
must be drawn off from a eask
containing say 604 gallons @ 6 o.p.
so that, when replaced with water,
there may remain say 60 gallons
@ 21 u.p.?

Answer : Draw off 15 gallons,

Leaving in the Cask 443 gallons.

SETTING ON RuLE:—

AA 6 o.p. Bulk 60 A
BB 21 u.p. Bpirit 443 B

Key.—We set 21 u.p. to 6 0.p.;
then under 60 gallons, the required
total bulk, we find 441 gallons, the
proportion of spirit required.

b/ ™
/fsLibe RuLE%
14,

d

(= 7y

) e

Referring to EXAMPLE (b) opposite :
Having 443 gallons of spirit @
6 o.p, find the balance of water
required to make up 60 gallons
@ 21 u.p., allowing for contraction

in bulk.

Answer 156'9 gallons,
[or 15 gallons 7} pints.]

SETTING ON RuLe: -

G | siap|  Spiritisg G
H 27 Water 15-9 H
Key, 64+21=27. We therefore

seb 27 to 21 wp. at the middle
position ; then under 44% we find
15°9, the true water required.

[The ¢ Contraction ** therefore —
53 pints.]

GENERAL EXERCISES.

Strengthof Quantity True Proportions. E’::“
the Spirig | Required to be ot Contracti
used. | SNt arado up. Spirit. Water. e

Gallons. Gallons. Gallons. Gallons.

21 o.p. 18 w.p. 25 1695 8:35 0-30
2 o.p. 17 w.p. 5 407 0-97 0-04
2 u.p. 20 u.p. 9 163 0:38 0-01
44:2 o.p.| Proof 60 48-25 12-30 055
8lop. | 10up. 50 3858 17:30 088
60 0.p. | Proot 50 31-25 2020 145

Nore.—When only a small quantity is required to be made up, say % a gallon,

or a gallon, or any even quantity up to4 gallons, for which standard measures
are provided, the most convenient way is to__-;mt the ascertained groporf.wn of
Aptrat into the proper measure, and fill up with w:mre?'—r.he contraction being met
i the act of filling., But when a large quantity is required to be made up,
Hecessitating the use of a cask, proportion the spirit and water separately, as
{ndicated above,

it The results are here expressed in gallons and hundredths of a gallon.
I'he equivalents in pints are found by line L on the Rule, or by reference
Lo page 19:
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REDUCING.—Continued. "'

SPECIAL.
REDUCING FROM O.P. To O.P.; OR BELOW 35 U.P.

MEeTHOD.—Set the difference of the two strengths® on B to the Lower-
Strength-Factor on A ; then under the gquantity of spirit will appear the
true water required, allowing for contraction in bulk.

ExAMPLE (a) —How much water is EXAMPLE (b).— How much water is
required to reduce T84 gallons of spirit required to reduce 140 gallons of spirit
Jrom 60 o.p. to 85 o.p. ? Sfrom 10 0.p. to 40 u.p. ?

Answer 156 Gallons. Answer 119 Gallons,

SETTING ON RuULE :— SETTING ON RuLE:

A 126 L‘-‘""' 3‘“’-"8“1 Spirit 784 A . A 586 m“;;cm‘_"“ﬁ‘h Spirit 140 A

B w5 1:5&::&;9 of  Water156 B B 50 %‘gﬁ;’“&i:’l Water 119 B

Key. 160—135=25. The Lower- Kry. 110—60=50. The Lower
strength-factor is 126. We there- strength-factor is 586. We there:
fore set 25 to 126 ; then under 78% fore set 50 to 586 ; then under 140
gallons we find 156 gallons, the gallons we find 119 gallons, the
true water required. true water required.

EXAMPLE (c).—How much water EXAMPLE (d).—How much watd
is re‘gmrcd to reduce 58 gallons of is required to reduce 417 gallons of
8p‘tns JSrom 42 o.p. to 30 0.p. ? apirit from 5 w.p to 45 w.p. ?

Answer 57 Gallons. Answer 30'6 Gallons,
SeTTING ON RULE:— SETTING ON RuLE:—

A 122 Lowgr Btrength  Spirit 58 A A 543 Lowsz Strength Spirit 41-7 AJ

B 1gDplerensect  Water 57 B B 40 fyfference of  'Water 30-6 B |

Key 142—130=12. The Lower- Kry. 95—55—40. The Lowaor

strength factor is 122. We there- strength-factor is 543. We there
fore set 12 to 122; then under 58 fore set 40 to 543 ; then under 41°
gallons we find 57 gallons, the gallons we find 30'6 gallons, thi
true water required. | true water required.

*Express all strengths in the percentage form. [Thus, *proof ? being
* overproof” is 100 plus the o.p.; ‘‘underproof” is 100 minus the w.p. M
instance, 60 o.p. would be expressed 160; 35 o.p. as 135. Similarly, 86 w
would be expressed 64 ; 40 u.p. as 60 ; 45 w.p. as 55; 50 w.p. as 50; and so on
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MUSEUM“?
Y

FACTORS.

Lower

Strength, 01_1‘213'4‘5 GJTiBJB

50 137 | 138 | 139 | 140 | 141 | 142 | 143 | 144 144 | 145
40 | 130 (131 | 132 | 188 | 133 | 134 | 135 | 136 | 136 | 137
30 | 122|123 | 124 | 124 | 125 | 126 | 126 | 127 | 128 | 129
OP. 20 | 118|114 | 115|116 | 117 | — | 118 | 119 | 120 | 121
10 105 — | 106 | 107 | 108 | 109 | 110 | 111 112 | 113
O | —| 96| 97| 98| 99100 | 101 | 102 | 103 | 104
30 | —| —| —| —] — — | 625615 605595
U.P. 40 | 586 | 575 | 570 | 563 | 553 | 543 | 533 | 522 | 511 | 500
50 490 | 480 | 470 | 461 | 452 | 443 | 433 | 493 414 | 404

EXERCISES.

Quantity To be Reduoced. True [Apparent| True Extent

i

|

% of _————— | Water Bullk Bulk of Con-

3 Spirit. From To Required| Measure | Measure.| traction,

Gallons, Gallons. | Gallons | Gallons. | Gallons,

(a 784 |60 0.p.[35 0.p.| 156 | 941 | 930 | 11

(b 140 10 0.p.|40 u.p.| 1190 | 259-0. | 2566 | 2-4

[ 58 420.p.800.p.| 57| 637 | 633 | 04

d) 4147 | 5up.[45up.) 306 | 723 | 72:0 | 03

2) 25 17up.50u.p.| 168 | 418 | 415 | 0-3 7o
(/2 80 |680.p.560.p.] 67| 867 | 861 | 06

(g) | 120 |30 0.p./100.p. 22-8 |142:8 1419 | 0-9

(n) 51'5 |20 0.p.[40 w.p.| 52:5 [104-0 | 103-0 | 1-0

NOTES.

* To ascertain the true bulk measure of the mixture, and the consequent
contraction : Set the reduced strength per cent.on B to the original strength
per cent. on A, and read the result over the original quantity of spirit. TFor
instance, take example (a) above—viz. 78} gallons reduced from 60 o.p. to
45 0.p. The true bulk measure in this case is 98 gallons. Found $hus:—

A 160, e Mrangth True bulk 93 A
B 135 Bedtond Btongch Spirit 78} B
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REDUCGING.—Continued.
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SPECIAL ror DISTILLERS, COMPOUNDERS axp RECTIFIERS.

REDUCING TO

11 or. AND 25 o.P.

On line G are placed siz dots, in
two groups of three each.

The first group is situated between
10 and 11, and is called the “ 11 0.p.
group-?,

The second group is situated be-
tween 11 and 12, and is called the
25 o.p. group.”

Meraop.—Set the difference of the two strengths on H to the
proper group-position on G*.
of spirit will appear the true water required—allowing

Jor contraction in bulk.

Set to the 1st position if the initial strength is 60 o.p. and over.
#{Bet to the 2nd position if the initial strength is 45 o.p. and over.
Set to the 3rd position if the initial strength is under 45 o.p.

Their purpose is to show the
water required to reduce spirits to
the regulation strengths of 11 o.p.
and 25 o.p. respectively.

The dot is said to be in the 1st,
2nd, or 3rd position, according to
the place it ocenpies in the group.

Then under the quantity

ExamrerLe (a¢).—How, much water
is required to reduce 500 gallons of
spirit from 65 o.p to 11 0.p. ?

Answer, 262 gallons.

Exampre (b).—How much water is
require to reduce 500 gallons of
spirit from 65 o.p. to 25 o.p. ?

Answer 174 gallons.

Q.. s
H 54

Spirit 500 G
Water 262 H

G

H 40

Spirit 500 G

Water 174 H §

Key. 65—11=54. We therefore
set 54 to the Ist position in the
“11 0.p. group”; then under 500
gallons we find 262, the true water
required.

Key. 656—25-—40. We t.herefura"
set 40 to the Ist position in th

“25 o.p. group”; then under 500
gallons we find 174 the true wabor
required.



ExaMPLE (¢).—How much water
is required to reduce 500 gallons of
8pirit from 50 o.p. to 11 o.p. ?

Answer 188 gallons.

FARMAR'S RULE. c/ - 81
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EXAMPLE (d).—I mq,ﬁl water
is required to reduce 500 gallons of
spirit from 50 o.p. to 25 0.p. ?

Answer 108 gallons.

(eE A Spirit 500 G G . . . Spirit _500_ G
H 39 Water 188 H H 25 Water 108 H
Kry. 50-11—39. We therefore Key. 50-25=25. We therefore

set 89 to the 2nd position in the
¥ 11 o.p. group ” ; then under 500
gallons we find 188, the true water
required.

set 25 to the 2nd position in the
“25 o.p. group”; then under 500
gallons we find 108, the true water
required.

EXAMPLE (¢) —How much water
is required to reduce 500 gallons of
spirit from 30 o.p. to 11 o.p. ?

Answer 902 gallons.

G Spirit 500 G

EXAMPLE (f). How much water
is required to reduce 500 gallons
of spirit from 80 o.p. to 25 o.p. ?

Answer 21-3 gallons.

Gl Spirit 500 G

H 19 Water 90-4 H

H 5 Water 21-3 H

Kuy. 80-11=19. We therefore
set 19 to the 3rd position in the
*11 o.p. group”; then under 500
gallons we find 904, the true water
required

Kry. 80—25—5. We therefore
set 5 to the 3rd position in the
25 o.p. group”; then under 500
gallons we find 213, the true water
required.

EXERCISES.
STRENGTH, QUANTITY, BULK. Extent
Birength. | Bomg. | Spwn | Tmewster | Apmreat | mme oo
0.p, | 0.P. Gallons. Gallons, Gallons, Gallons, Gallons.
0d 11 500 2570 7570 7388 18:2
. 66 25 1250 4450 16950 | 1660-0 350
“b2 25 420 980 5180 5108 72
18 11 | 280 186 208-6 2977 09

# To find True Bulk, see page 79.
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SPECIAL FOR GAY-LUSSAC'S HYDRS*ETER.

MermoD,—Set the difference of the two strengths on B to the Lower-Strength
Factor on A ; then under the quantity of spirit in litres will appear the true
water required in litres—allowing for contraction in bulk.

LoweRr FACTORS.

Sthene™. |0 [1 [2 (8 [a |5 |67 |8 |9
70| 660 | 669 I 678 | 687 | 696 | 705 | 714 | 728 | 782 | 741

60| 570 | 579 | 588 | 597 | 606 | 615 | 624 | 632 | 642 | 651

Gay-Lussac{ 50| 480 | 489 | 498 | 507 | 516 | 525 | 534 | 548 | 552 | 561
40| 390 | 399 | 408 | 417 | 426 | 435 | 444 | 453 | 462 | 471

30| 200 | 300 | 310 | 320 | 330 | 340 | 850 | 360 | 870 | 380
EXAMPLE (a).— How much water ‘ EXAMPLE (b).— How much water is

is required to reduce 545 litres of required to reduce 280 litres of spirit
spirit from 75 to 60 Gay-Lussac ? from 80 to 60 Gay-Lussae?
Answer 284 litres. ‘ Answer 98 litres.

SETTING ON RuULE:— | SETTING ON RULE:—
A 480 I-nwg,rﬂgg;:fnsth Spirit 545 A A 570 Lmlt:;ggrﬁnsﬂl Spirit 280 A
B 25 Difference of Water 284 B

Btrengthe,

Kry. 75—50=25. The lower- Key. 80—60=20. The lower.
strength factor is 480. We therefore strength factor is 570. We therefore
set 25 to 480 ; then under 545 litres set 20 to 570 ; then under 280 litreg
we find 284 litres, the true water we find 98 litres, the true water
required. required.

B 20 Difference of Water 98 B

Strengthe,

' EXERCISES.

ui ” 2 5

§ Sf“:;:-::n{ To b6 Red True Water Bnﬁm‘u‘umnt True Bulk J pExE.ent“ni
Lﬁ Litrea. _me To LE:. I:I;.;, I:m Litres,
a 545 75 50 284 829 820 9

b 280 | 80 60 98 a78 373 5

¢ 126 | 738 56 43 169 167 2

d 500 68 418 216 716 709 7

e 1000 69 47 483 1483 1468 15

# To ascertain the true bulk measure, and the consequent extent
contraction: Set the reduced strength on B to the original strength on A, an
read the result over the original quantity of spirit. For instance, take exam
(@) above—viz. 545 litres reduced from 75 to 50. The true bulk mens
in this case is 820 litres. Found thus:—

A 75 Original Strength Bull 820 A
B 50 Reduced Strength Spirit 545 B
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[4+*s The Rule, used in con.unction with the Table of Factors
the capacities of casks in litres from dimensions taken in centimetres,
ually applicable here—except,
& to correspond with the' ne
remembering that one-tenth of an inch is equivalent to

directions on pages 42 and 43 are e
of allowances given must ‘be ma

glve%] below, caleulates
1e general gaugin

of course, that the s%n]g-
W unit of measurement :
254 centimetre. Bearing in mind,

however, that a well-proggrtianed eask with a full quarter requires no allowance, while 42
0

off the length would probably be sufficient to
with in ordinary practice, it will be seen that
seribed limits, and only needs the exercise of

meet the demands of the worst cask dealt.
the scale, after all, fluctuates within ecircum.
a little care to ensure successful application.]

Dim;nstm
i
Centimetres,

012 /3 |a

5 G ! 7 8 9 Dinmeters

1040, *1261( 1381 *1506
~2080 *2522( 2762 '3!’.1].2-r
+2349( -2510) 2678 -2saz| 3028
~4698) -6020( *5356| *5704! 6056
*4165| -4372| -4602| -4810| ‘5050
*8330] 8744 *0204| 9638
6547 6817 "7090| -7200!
1-3194

0397
1'8704
1-2704
25588
16742
80 Bung |3-3484

20 Head
20 Bung
30 Head
80 Bung
40 Head
40 Bung
50 Head
50 Bung
60 Head

*1149
*2208|

7619
9719

1-322711-3513(1-3045/1-
26454 2‘7D2Gi"" 7800 2
1-7168/1-7580

90 Head [21024]
90 Bung |[42048)
100 Head (26018
100 Bungl'ﬁ'ﬁusu

26726 2‘?133f2"?877|
5‘3452{5'42&}'

11°010011°0570 1+1056/1- 1546

1-5634/1-4180|1-4598/1°5238 1-5742 1-6332 1+ 1032
{1°0044{1-0377|1-0714/1-1057 11318/1-1670
1:0438/2-0088{2-0754 21428 22114 2-2636,2- 3340
4385/1-4783(1-5084/1°5387
2 877020566, 3-0168/3:0774
1°8012(1-84861-8924 1-9390/1-0733
13433813 5160/3-6024/3-6972 37848 3-8780(3-0466
2116241220492 2611/2-3008 23492 2:30792: 4500/2-5000 2-5661) Head
4:3248/4-4007|4-5222 16196 1-6984 4- 7058/ 4- 0000

2:8227/2-8603 2:9335/2 0907
55354 56454 57526 5867050814

in
F Contimetres,
1630

Head
3272

Bung
*3213| -3380| 3568 Head
*6426) -B778] 7136 Bung
*b285| 6528 5773 Head
Bun

“1769|
3538

1807
8704

2040
4080
3746
7490
6027
1+2064{1-2568 :
8770 -0081| Hea
1°7540/1-8162| Bung
1°2070|1-2482| Head
2 4140/2:4964) Bung
1-59021-6218 Head
318043 2656 Bung
(20107 20720 Head
40506 4-1458 Bung

*2193
4384
3049
7808
6284

"TATL| -B166; -B466)

50018 51322 Bung
[31:579:3-1200 Head 100
|I5'115SIU'2400 Bung 100

» MerHOD :—Set the sum of the two Factors to10 on line A
under the length will appear the content or capacity

; then
of the Cask.

ExamPLE (a).~ Find the capacity
of a Brandy Hogshead from the
following dimensions :—

Tongth. Hend. Bung,

Centi £ . O i C i Tas,

806 57 66
Answer 267 litres.

SETTING oN RuLE:—

ExampLe (b).—Find the cupacity
of a Claret Hogshead from the
following dimensions :—

Length, Head, Bung.
Centhnetres. Centlmotres, Centimetres,
YES 56 G4

Answer 218 litres.

SETTING ON RULE :—

A 86 Length 10 A A 74 Length 10 A

B 267 Capacity 311 B B 218 Capacity 2:95 B
Kry.—The head factor = -8466 Key.—The head factor = -8166
The bung factor = 2:2636 The bung factor = 2:1428
8:1102 r 2'!?59_4

_

Bobting this 3-11 to 10 on Line A,

wo find that 86 em. length=267
litres capacity.

Setting this 2:95 to 10 on line A,
we find that 74 cm. length =218
litres capacity.

Nowt.—If the diameters are

4t 70 Head, 100 Bung—the
glr & we get 25°9320, the true sum.

greater than 100 centimetres, halve
quadruple the results. Thus, suppose 140 Head, 200 Bung.

Sactors for which amount to 6-

them and
Halving them we
4830.  Multiplying
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FOREIGN GAUGING.—Ullaging.

LYING CASKS.—Set the Bung-
Diameter on C to 100 on D; then
under the Wet will appear the Seg-
ment. Set this Segment to either of
the two 10’s on line A; then under
the Capacity in litres will appear the
Ullage-quantity in litres.

STANDING CASKS.—Set the
Length on C to 100 on E ; thenunder
the Wet will appear the Segment.
Set this Segment to either of the two
10's on line A ; then under the Capa-
city in litres will appear the Ullage-
quantity in litres.

ExampLE—Find the Ullage of &
Lying Cask from the following
particulars:—

Bung. Wet, Content.
Centimet Centi Litres.
52 34 136

Answer 96} litres.

BETTINGS ON RuLE—

. C 34 Wet Bungb2C
1s
D 71 Segment 100 D
A 136 Content 10 A
2nd
B 964 Ullage Segment 71 B

Kry.—We set the Bung 52 to 100
on D, and find that Wet 34 shows
71 segment. Setting this segment
to 10 on line A, we find that 136
litres content gives 964 litres ullage.

[See footnote 3 below.]

ExaMpLE—Find the Ullage of a
Standing Cask from the following
particulars :—

Length. Wes, Content,
Centimetres. Centimetres. Litres.
86 50 272

Answer 159 litres.

SETTINGS ON RULE:—

i C50 Wet Length 86 C
st
E 58% Segment 100 E
A 272 Content 10 A
2nd -
B 159 Ullage Segment 58§ g

Key.—We set the Length 86 to
100 on g, and find that Wet 50 shows
5B% segment. Betbting this segment
to 10 on line A, we find that 272
litres content gives 159 litres ullage.

[See footnote 1 below.]

Bung. Wet. Content. | Ullage. Length. Wet. Content. | Ullage.
Centimetres Centimet Litres. Litres. Centi Centimetres| Litres. Lllr;:
66 50 273 227 71 46 140 924

53 34 127 88 124 82 546 367

88 77 500 472 83 634 255 202

Nore.—When reading quantities on rule over 100 litres, observe the
directions given on page 3. Thus, by mentally adding = nought, or

removing & decimal

point, we multiply the figures tenfold. Thus, 1

becomes 10, 10 becomes 100, 100 becomes 1000. Similarly, 104 becomes
104, 11 becomes 110, 126 becomes 126, 2 becomes 20 or 200; and so on.

# The foregoing remarks equally apply to line C. For instance, if the
length or diameter of a Cask is over 60 centimetres, the series may be

«continued by starting afresh from the figure 6.

Thus, 6-1 becomes 61, 7

becomes 70, 9 becomes 90, 10 becomes 100, 12 becomes 120; and so on.
1 In this way, if we have, say, 86 length 50 wet, we read as though ik

were 86 length 5-0 wet.

el
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WEIGHING.

MerHoD :—Ascertain from line F the number of lbs.
per gallon corresponding to the hydrometer
strength. Set this result to 10 on line A;
then over the total net pounds will be found
the quantity in the Cask. %

EXAMPLE (a).—Find the content ExampLE (b).—Find the content
of a cask of spirits from the follow- of a cask of spirits from the follow-
ing particulars :— ing particulars :—

Net Weight, Y iromete Net Weight,_ g foee
Cwt.  Qra.  Lba. Pounds. Cwt. Qrs. Lbs. Pounda.

2 : 8 :5 or 313 (@ Proof. 4 : 2: 7 or 511 @ 2100np.
Answer 34 gallons. Answer 57} gallons.
SETTING ON RULE— SETTING ON RULE:—
” Proof. 21 0.p.
Line F e e RS 3 et
o 9187 1bs. ek 8911 Ibs

A 34 gallons 10 A A 57F gallons 10 A

B 3813 lbs. 9-187 B B 511 lbs. 8911 B

Key.—Line F tells us that spirit Key.—Line F tells us that spirit
@ Proof weighs 9-187 1bs. per gallon Gdl Dp. weighs ST LD

} & “perg ' gallon. Betting this 8:911 to 10 on
Setting this 9187 fo 10 on line A, line A, we find that 5111bs, = 57}
we find that 313 1bs=34 gallons. gallons.

EXERCISES.
Gross. Tare. Net Weight. Hyd Strength.| Lbs. per gall. Gallons.
t:w_r.._<ins. lbs. | cwt. gre. lbe. jcwt. qre.lbs. Pounds

1:8: 1|10:1:26|1:1: 3= 143| 150u.p. 9:36 153

8:2:19/0:2:27 (2:8:20= 328 885 o.p. 8:653 374

11: 0:22 | 1:2:10 [9:2:12=1076]| 234 o.p. 8878 121

i Equally applicable to Jars, Glass Vases, and other vessels. For the
purpose of Stocktaking, mark the Tare on the package, so that it may be
deducted when taking the Gross Weight.,

+“s Particularly useful on Racking and Blending Floors, where cagks
are filled from the Vat, &. Also invaluable for checking losses in transit
by calculating on the difference between the two gross weights.
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METHOD.—Set the rate of Interest expressed in shillings to 100 on line Aj; then
under the Principal tn Pounds will be found the Interest in shillings for one year.
Set this vesult to 365 days; then under any number of days will be Sound the

Auterest in shillings and pence.

EXAMPLE 1,

FIND the Simple Interest on £75 for

42 days at 2} per cent.

Answer 4s. 3d.

SBETTING ON RULE.

A £75 Principal 100 A
B 37-5 Shillings

Ist.

50 B

A 43 Days
B 4s. 8d.

Days 365 A
2nd.

Shillings 276 B

EXPLANATION.

2} per cent= £2 10s. or 50
Shillings per cent, which we set to
100 on line A. Then under the
Principal £75, we find 875 shillings,
the Interest for one year. We set
this result to 365 days, then under
42 days we find 4s. 8d., the Answer.

ExameLE 2,

FIND the Simple Interest on £36 5s.
for 184 days at 3% per cent.

Answer 12s. 9d.

SETTING ON RULE.

A £36} Principal 100 A
lst.

B 25-37 Shillings 70 B

A 184 Days

B 12s. 9d.

Days 365 A ’

Bhillings 2537

2nd.

EXPLANATION.

8% per cemt. = £3 10s. or T
shillings per cent. which we gob §
100 on line A. Then under {h
Principal £36}, we find 264
shillings, the Interest for one yo
We set this result to 365 day
then under 184 days we fin
125, 9d., the Answer
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COMPOUND INTEREST. %’
| 28 per | 3 per | 33 per | 4 per | 4% per | 5 per .| 6 per
Years. 395& cent. gei]:iﬁ. celx}lt. ieﬁt. celglt, -mzlnt. Years,

1 ‘02500 | -08000 | 03500 | -04000 | -04500 | 05000 | 06000 1
2 05063 [ -06090 | 07123 | -08160 | -09208 | -10250 *12360 2
3 07689 | -00273 | 10872 | 12486 | -14117 | -15763 | -19102 3
" 4 *10881 | 12551 | -14752 | -16986 | 19252 | 21551 | 26248 4
5 18141 | -15927 | -18769 | -21665 | -24618 | -27628 | -33823 5
6 *15969 | -19405 | -22026 | -26532 | -30226 | 34010 | -41852 6
7 -18869 | -22087 | -27228 | -31593 | -86086 | -40710 | -50363 7
8 *21840 | -26677 | -31681 | -36857 | -42210 | 47746 | -59385 8
9 *24886 | 30477 | -36290 | -42331 | -48610 | -55138 | -68948 9
10 28008 | 84392 | 41060 | -48024 | -55297 | -62889 | 79085 10
11 *31209 | -38423 | -45997 | -53945 | *62285 | =71034 | -89830 11
12 84489 | 42576 | -51107 | -60103 | 69588 | 79586 [1-01220 12
13 37851 | 46853 | -56396 | -66507 | 77220 | 88565 [1-18298 | 13
14 41297 | -51259 | -61869 | -73168 | -85194 | 97993 |1-26090 14
15 *44830 | -55797 | -67585 | -80094 | 03528 [1-07803 | 1:39656 15
16 *48451 | ‘60471 | -73399 | -87298 |1-02237 |1-18287 |1-54085 16
17 52162 | 65285 | 79468 | -94790 [1-11831 [1:20202 | 1-69276 17
18 55966 | 70243 | 85749 |1-02582 |1-20848 | 1-40662 |1-85434 | 18
19 69865 | 75851 | -92250 |1-10685 [1-30756 |1-52695 |2:02560 19
20 *63862 | *BO611 | -98979 |1-19112 |1-41171 | 1-658380 |2-20714 20

Mernop :—8et the proper Factor to 10 on line A ;

then under the

Prineipal in pounds will appear the Compound Interest in pounds and

decimal parts.

ExAmPLE («).— Find the Com-
pound Interest on £75 for 10 years
at 24 per cent. per annum.

Answer £21.

SETTING ON RuLe:—

ExampLe (b).—Find the Com-
pound Interest on £36 5s. for 4 years
at 3% per cent per annum.

Answer £5 6s. 4d.

SeETTING ON RULE :i—

A £75 Principal

B £91 Compound

Interest

10 A

Factor 28 B

A £36} Principal 10 A

B #£532 cf;*g;‘:ﬁ'{“ Factor 147 B

Kuy.—The factor for 10 years at
44 per cent = -28008. We therefore
sol 28 to 10 on line A ; then under
W76, the Principal, we find £21,
the Compound Interest.

Kry.—The factor for 4 years at
33 per cent — +14752. 'We therefore
set 147 to 10 on line A ; then under
£36%, the Principal, we find £5-32%
the Compound Interest.

ndrodths of a pound.

ings and pence by multiplying by 20 and 12.

¥ The Rule here expresses the Answer 5:32, meaning 5 pounds and 32
Any decimal of & pound may be converted to

Thus £5-32=£5 6s. 4d.
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The Standard for the Wine & Spirit Trade.

|
| “FARMAR'S Spirit-Rule,”

| [*4* For Wine and S8pirit Merchants,

“FARMAR'S Publicans" Rule,”
The Btandard for the Licensed Trade.

4 o i
gl‘ewm' Dgt“;m' Blenders, | ['* FOPruEI‘ilé} Hoinn Eﬁﬁlgefsmﬁf.fm’ "
ottlers, rokers,  Valuers, : - 3 ’
Gaugers, and Stocktakers.] Gaugers, and Stocktakers.] ]
WITH GUIDE-BOOK, COMPLETE, Wire GUIDE BOOK, COMPLETE. !

Desk Size, 30/- | Pocket Size 21/- | Pocket Size - . . 15/ ,}
ACCESSORIES. .;‘
Farmar's Dip-Rod.—Specially recommended for use

with Farmar’s Rules.
complete, 10/6 net.

Portable. In cloth case,

Farmar’s Ullage-Indicator-A concise ready-reckoner of -
ullages for lying casks. 1/6 net.
Farmar's Vacuity-Rod.- For useon racking floors, 2/- net. .

Farmar's Testing Outfit.— Consisting of Sikes’ hydro-
meter, in silk-lined mahogany case,with thermometer,
test-tube, and book of tables, complete. 1} to 4 guineas.

F. C. FARMAR & SON, Hype Roap, WaTerLOO, LIVERPOOL, !

/ N

School of Guuging.

INSTITUTED 1904,

Omrnns exceptional advantages to all who
J desire Private Instruction in any of
the following

Subjects :—
GAUGING, STOCKTAKING, HKEEPING ACCOUNTS,
VALUING, REDUCING, TESTING,; USE OF RULES, &c.

Private Classes. Pupils Visited. Tuition b;
Correspondence. ;
=" Instruction in the English, American, and
Continental Bystems.

Certificates of Proficlency granted on Completion of Course.

For terms, &e., apply to the Principal:
F. C. FARMAR, HM.C.B,,
15, Hyde Road, Waterloo, Liverpool.
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